Hawa Porta
for glass sliding doors
Functionality that gets things moving

Increasing numbers of sliding doors
made from glass are providing their
valuable services in modern interior
design. And on an increasing number
of occasions it is a Hawa Porta fitting
which moves these sliding doors.
With good reason: Its clever clamping
shoe fixings make extremely efficient
installation possible without any glass
processing whatsoever. Then there
are the qualities which are typical of
Hawa Porta such as the economical
modular system, which makes the
use of different systems on the same
running system possible, the freely
positionable stopper and the comfort-
able soft and self closing system. And
because the entire technology disap-
pears into the running track, it is also
a top-class choice from a visual point
of view. Particularly since its attractive
designer panels and the running tracks
with different types of finish blend
harmoniously into any ambience.

-

420



Area of application Technical specifications

Aesthetic room partitioning in top quality interior design of private and public buildings, [\ Max. 40/100 kg
such as for transparent, large-area kitchen/living room separation, light-permeable partitioning «H Max 2700 mm
of bathrooms with frosted glass or room partitions in glass with an integrated sliding door. v

£2  Max. 1600 mm
System advantages [« 6-12.7 mm

ﬁTﬁ Flexibility Versatile, rational combination options by means of

multiple use of fittings Good to know (accessories)

Efficient, simple installation and convenient adjustment
No glass processing thanks to clamping shoe fixing

‘/ﬁ Productivity - Soft and self closing

mechanism

— Addition for 2 synchronously
running doors

— Push-to-open with
self closing mechanism

SQ(R Comfort Running gears with ball bearings for high degree of operating convenience

Soft closing mechanism integrated in running track

Aesthetics Elegant profiles, invisible technology and wide range of design versions

for wall and ceiling mounting

Installation examples

Hawa Porta 100 GW Hawa Porta 100 GWF Hawa Porta 100 GMD Hawa Porta 100 G Hawa Porta 100 GMT

Pocket

Hawa Porta 40 GE

36 69 45 45 30
13u 23 3u 3u 3u
13 % 12 17 13
) = ] Qo
% & % G’N% : % éc\?’ =
] 5| L
L = a RN Gt il 3| ae
8 10 10 10
S 13u 134 130
16 32 32 32
~l0 ~| ke haall) ~| ol 4B " ~| ok @HB ~| ke
18 33 20| 33 35 35
231 15 Bu {50 12 v 13
32 16 16 16 8 8 8
|| | || | || || || ‘
———— ———— ———— ———— ——— ———————
= == == == — =
|| | || | ] |

Product range

Hawa Porta 40 GE

Hawa Porta 100 GW

Hawa Porta 100 GWF

Hawa Porta 100 GMD

Hawa Porta 100 G
Hawa Porta 100 GF

Hawa Porta 100 GMT
Pocket

421



m gelgey 40 GE

Fitting for top-running glass doors up to 40 kg (88 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

“Tﬁ Flexibility Multi-faceted product range, same parts for wooden u\
and glass solutions =L
M Productivity No glass processing thanks to clamping shoe
connection
Technical specifications )
[\ Max. 40 kg (88 Ibs.)
w Max. 2200 mm (7'2 5/8")
&2 Max. 1000 mm (3'3 3/8") /\
5[ 6-8 mm (1/4" to 5/16") —
—_—
Installation examples
47 36
045 1 045 -3
\fi1 36 7 3_ .17 42 179
= 1 2l ][ 2t 21 T i
16 32 32 B 2 1% 2 @
S| lE D J Q| U J B Hﬂ% SO o |
L = f = =
- 4 e B - I e € 54 le%e %0l ©°0 ©°
<[ <[m g — 1§~
alg d - [
2 2
4 +4 £ 3
- -1
A8 nEx
AP 1
32 32
2409| |86 (19]13] 18 © 8 100 50 8
) 6 EIEEE it xR’ 7w
. i 108 58|11
ik ok 4 3
| | T ]
nn I
= ge = gle
HH 53
8l 8 8l 8
oo oo
8 8 8l 8
[GIRG) [GIRS)
Rtm . Rtm . ] ke
’é ~[ ol /é ~[olsy \é/l I\é
04x20 04x20 4| 4g 40
200 23 T 23, 1L
2 2 2 3R 16

422 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for wall mounting, for 1 glass door up to 40 kg (88 Ibs.)

m gejgey 40 GE

Set for wall mounting, for 1 glass door up to 40 kg (88 Ibs.)

No. No.
Hawa Porta 40 GE, for 1 door 057.3157.071 Hawa Porta 40 GE, with soft close and track,
2000 mm (6' 6 3/4"), aluminum, anodized, 057.3157.072
- for 1 door
5 Hawa Porta 40 GE, with soft close and track,
L) No. 2000 mm (6' 6 3/4"), aluminum, stainless steel 057.3157.073
2 look, for 1 door
Set consisting of: 3
Al | M
Running gear, 515
plain bearings, rollers, 2 | 057.3149.071 B8 No.
plastic, white ® | ®
A
Set consisting of: (inch) S| o
Stopper, plastic, gray 2 | 057.3148.071 7| soft close, up to 40 kg
(88 Ibs.), running gear 2 | 2 | 057.3158.073
premounted
Hexagon screw,
% M5x18 mm (3/16"x23/32"), 2 | 600.0000.646
steel, zinc-plated S_topper with release o | 2| 057.3151.071
piece to soft close
ZQ Prevailing torque, M5,
Q“) steel zin?:-pla?ted 2 | 600.0000.459 Hexagon screw,
’ M5x18 mm
(3/16"x23/32"), 2 | 2 | 600.0000.646
Clamping shoe, zinc diecast, steel, zinc-plated
aluminum, glass thickness 2 | 053.3161.071
6-8 mm (1/4"-5/16") A\ I,
@ Prevailing torque, M5, » | » | 550 0000.459
steel, zinc-plated
Bottom guide,
chrome-plated, matt 1 | 053.3191.901 Qlamping shoe, zinc
diecast, aluminum, 2 | 2| 053.3161.071
glass thickness
; ; ; 6-8 mm (1/4"-5/16")
Slider bottom guide, plastic, 1 | 053.0146.002
gray
Bottom guide, 1|1 | 053.3191.901
chrome-plated, mat
Countersunk head screw,
&Eﬁ@ 4x20 mm (5/32"x25/32"), 2 | 766.5042.120
steel, zinc-plated . .
SIlder bottom guide, 111 | 053.0146.002
plastic, gray
Countersunk head
&E% screw, 2 | 2| 766.5042.120

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

4x20 mm (5/32"x25/32"),
steel, zinc-plated

Cover cap, left,
plastic, anthracite

053.3192.001

Cover cap, right,
plastic, anthracite

053.3192.002

Track cleaner, plastic,
red

040.3142.071

Continued table on next page

423



m gegey 40 GE

Table continued from previous page

Panel end component set, 36 mm (1 13/32"), aluminum

Running No.
track, 2,000 Panel end component set, 36 mm (1 13/32"
aluminum, AU I 057.3146.200 . f P ’ ( ) 057.3107.071
anodized, (6'63/4") aluminum, left
pre-drilled Pane_l end cpmponent set, 36 mm (1 13/32"), 057.3107.072
Clip-on aluminum, right
panel, 2,000 |, 053.3195.200
aluminum, 6'63/4") ’ ’ hl
anodized o|o
S5 No
Running = | & ’
track, B 'lB
aluminum, 2,000 Set consisting of: oo
stainless 6'63/4") 1 | 057.3146.204
steel look, Panel end component,
pre-drilled left, aluminum, anodized 1 053.3195.901
Clip-on
panel, Bracker connector,
. 2,000 ’
aluminum, osa 1 | 053.3195.202 steel, zinc-plated 1| 1| 057.3051.101
stainless
steel look Screw, M4x2.6 mm
(5/32"x1/8"), steel, 2 | 2| 011.0101.171
Running tracks zinc-plated
mm Panel end component,
(inch) No. left, aluminum, stainless 1| 053.3195.902
6.000 steel look
Running track, (19]8 32y 057.3146.600
aluminum, anodized, .
—dri cut to
pre-drilled size 057.3146.990 Panel end component set, 47 mm (1 27/32"), aluminum
Running track, (15;07?32”) 057.3146.602 No.
aluminum, stainless Panel end component set, 47 mm (1 27/32"),
steel look, pre-drilled | CUt10 | osa446 990 aluminum, left 057.3107.081
size
Pane_l end cpmponent set, 47 mm (1 27/32"), 057.3107.082
Panels aluminum, right
mm 5|8
(inch) No. Q|9
B B No
6,000 | 453 3195.600 a8 '
Clip-on panel, (19'87/32") Lo 55 | 1S
aluminum, anodized cutto Set consisting of: oo
. 053.3195.990
Size Panel end component,
6.000 47 mm (1 27/32"), left, 1 057.3107.077
Clip-on panel, (e 87732y | 003-3195.602 aluminum, anodized
aluminum, stainless
steel look CL{T to 053.3195.992 Bracker connector, 1111 0573051101
size steel, zinc-plated
Spacer tracks Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 2 | 2| 011.0101.171
mm zinc-plated
(inch) No.
Panel end component,
Spacer track 2,000 | 5s23166.200 47 mm (1 27/32"), right, 1 | 057.3107.079
aluminum ar;odized oY aluminum, anodized
pre-drilled C:itzr 057.3166.990

424

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Panel end component set, 36 mm (1 13/32"),
stainless steel effect

Soft close

m gejgey 40 GE

No.

No. Soft close, up to 40 kg (88 Ibs.) 057.3159.073
Par_]el end component set, 36 mm (1 13/32"), 057.3107.075
stainless steel look, left ™
N~
Panel end component set, 36 mm (1 13/32"), g
stainless steel look, right 057.3107.076 o) No.
5
0| o© Set consisting of: )
N
S| Q
S| S No. Soft close
Q|8 up to 40 kg (88 Ibs.) 2 | 057:3156.073
. g [To Il Te]
Set consisting of: oo
Panel end component, )
left, aluminum, stainless | 1 053.3195.908 Release piece soft close 2 | 057.0182.101
steel look
Bracker connector, Thread rolling rounded
steel, zinc-plated 1| 1| 057.3051.101 %gﬁ’@ head screw, 5 | 600.0000.764
N M2.5x5 mm (3/32"x3/16"), ’ ’
Screw, M4x2.6 mm steel, zinc-plated
(5/32"x1/8"), steel, 2| 2| 011.0101.171

zinc-plated

Accessories

Panel end component, No.
right, aluminum, 1 | 053.3195.909
stainless steel look Bottom door stopper,
with centering, 20773
chrome-plated, matt
Panel end component set, 36 mm (1 13/32"), plastic
Bottom door stopper,
No. with centering, 21473
End cap set, plastic, anthracite 053.3192.071 stainless steel look
End cap set to spacer track 057.3166.200 057.3162.071
/ Track cleaner, plastic, red 040.3142.071
5|5
,% © No.
™| »
2|5
Set consisting of: o|o
Cover cap, left, plastic, 1 053.3192.001
anthracite
Cover cap, right, plastic, 1 053.3192.002
anthracite
ﬁ Cover cap to spacer o | 057.0187.001

track, plastic, anthracite

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

425



m gelgey 40 GE

Calculations of panels Bottom door stopper
3 Schiene/Track/Rail Schiene/Track/Rail 9 Einbau_variame_
é" l —%; Mounting version

Variante de montage

Clipblende/Clip fascia/Cache a clipser

Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail = Schiene/Track/Rail + 7,5 (%") 15
%n
2%
3 Schiene/Track/Rail Schiene/Track/Rail 9
In "
i
5|
ET
Clipblende/Clip fascia/Cache & clipser Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail = Schiene/Track/Rail + 7,5 (%") 15
%u
Soft close

| W= IHE

iz > 260
i B | O 1 2 1n
4 — > 107
Hawa Porta 40 H 14 20 .
Hawa Porta 40 GE 1242 11108
Hawa Clipo 26 H1S 14 208
Hawa Clipo 26 H MS 165" 2118 =
Hawa Clipo 36 H IS rapl 2ol [ | | 2
Hawa Clipo 36 H MS 1' 655" 2' 132" | [ Hawa Porta 40 H 420 1620
Havia Porta 40 GE 376|576
. 17| o1 g 130
Havia Clipo 36 HM 1S 142" 29" | FHawa Cipo 26 H 1S 220 | 620
Hawa Clipo 26 GRS 1143 2/ 043" | | Hawa Clipo 26 HMS 458 | 658
- — 1,1 | HavaCipo 36 HIS 420|620
Hawa Clipo 36 G IS 1"433"| 2'03, | | Hawa Clipo 36 HMS 458 | 658
. . 417u| o 13| | Hawa Clipo 36 HM IS 420 | 620
Hawa Ciipo 36 GPK 1S 432" 295" | [ Hawa Cipo 26 GRS 420 | 620
Hawa Clipo 36 GPPK IS 1" 432" 21033 | | Hawa Clipo 36 G IS 420 | 620
Havia Clipo 36 GPK 1S 420 | 620
Hawa Regal C 26 HM IS 1+ 43Z*| 2023 | [ Hawa Clipo 36 GPPK1S 420 | 620
— 5| [ HawaRegal C 26 HM IS 420|620
Hawa Regal C 26 GR IS 137 | "' 18" | [Hawa Regal C 26 GRIS 200 | 600
® o)y b S = |=|| ) ) l|=|
I — A (©) [
> 460
> 160"
Z
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

426 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z32%Y 100 GW

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and
self closing mechanism. Wall or ceiling mounting.

Product highlights
<> Flexibility

Aesthetics

Wall mounting, ceiling integration or surface
mounting on the ceiling possible

The technology is almost invisible, since it is
contained within the ceiling-integrated running profile

Technical specifications

@ Max.

100 kg (220 Ibs.)

$H Max. 2700 mm (8'10 5/16")
£2  Max. 1600 mm (5'3")
)« 8-12.7 mm (5/16" to 1/2")

Installation examples

//\

* (137) 115
3 174
55" a5
& *m_it Montagedfnung *107 g5
with assembly opening - i
2%‘ avec ouverture de montage (433") 3%
28 05
13 26 *66) a4
N 190 123n
1oy (232 132
N _ -2
& ~ @ oINS i
' B|o S ' i) ) B|og
Lé i B :&H: !
s - = -
4l[10] 25 124 % 65 43 |10
+3 5. 13 0 Zn 9w 411u[13,
13 %% 4 (%6175 32
(75) 53]
@) 2
iR *(127) 105
@ 1. 6) 4
15 [10 44 8
BB 2
} R R 32 0
8| 1
21 : 3
=3 ®(8-127) Slde
ge 5, 1
ge D (5"-32") @m
£ g
GRS
IR Art. No. 042.3064.071
&8s At No 0423064072 He—
1% 12
=
=
3
i
3
i)
=4
o
~yolsy :x - ;,‘N © .-;g
%\ é 50 é 24 38
38\ 04 13 Ton_ I
1ﬁu 32 1 2
427

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z322) 100 GW

Set for ceiling or wall mounting, for 1 glass door
up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 GW, for 1 door

057.3091.071

Set consisting of:

057.3091.071

No.

Running gear, ball bearing,
rollers plastic white

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without retention
spring, plastic, gray

057.3073.071

Suspension bolt, M8x25
mm, flat head, steel, black

600.0000.473

Running tracks

Clamping shoe,
glass thickness 6-12.7 mm
(1/4"-1/2"), aluminum

057.3087.071

Bottom guide, playfree
adjustable, glass thickness
8-12.7 mm (5/16"-1/2"),
chrome-plated, mat

057.3082.071

Wall buffer, 19x10 mm
(8/4"x13/32"), rubber, black

024.0002.046

Clip for panel, every
300 mm (11 13/16"),
plastic, gray, 12-piece set

057.3086.051

Countersunk head screw,
4x20 mm (5/32"x25/32"),
steel, zinc-plated

766.5042.120

428

mm
(inch) No.
2,500 057.3083.250
(8'27/16")
Running track, 3500
aluminum, anodized, ! 057.3083.350
. (11' 5 25/32")
pre-drilled
6,000 | 157 3083.600
(19' 8 7/32")
Running track,, cutto
aluminum, anodized, size 057.3083.990
pre-drilled
2,500
Wall mounting angle | g 5716 057.3100.250
profile, aluminum,
anodized, pre-drilled Cu_t to 057.3100.990
size
2,000
Disposable cover ©63/4") 057.3089.001
Hawa Porta 100 GW/
GWEF, plastic, black Cu_t to 057.3089.990
size
Screw set
No.
Screw set for angle profile, 12-piece set 057.3102.071
~
S
S No.
o
5
Set consisting of: o
Thread rolling countersunk
head screw, M5x10 mm
s, fyrtuivity 12| 600.0000.345
steel, zinc-plated
Panels
mm
(inch) No.
2,500 1 457 3085.250
(8'27/16")
?”500 .| 057.3085.350
Panel profile, (11' 5 25/32")
aluminum, anodized
6,000 057.3085.600
(19' 8 7/32")
cutto | 957.3085.990
size
Screening seal for 20,000 057.3078.002
fascias, plastic, black | (5'7 13/32") ’ ’

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




End cap set

'Hawa [[Z322) 100 GW

Wall compensation profiles

No. mm
End cap set for angle profile, plastic, anthracite, 057.3103.071 (et NE-
with screws for tracks up to 2500 mm (8'2 7/16") ' ' Wall compensation 2,500 042.3064.071
End cap, ceiling mounting, plastic, anthracite 057.3118.071 profile, with sealing @26y
profile gray, 3,000
_ aluminum, anodized | g 1015 | 042-3064.072
5|5
3| No. Accessories
o | &
55 No.
Set consisting of: 3|8
i Bottom door stopper, with 20773
End cap, left, plastic, 1 057.3101.002 centering, chrome-plated, matt
anthracite ’ ’
Routing jig for assembly
i i @ ] 042.3118.071
End cap, right, plastic, | 057.3101.001 %o\” opening
anthracite 2
Groove cutter to routing jig,
Screw set for angle = " 600.0000.309
?.g@ﬂg% profile, 12-piece set 1 057.3102.071 @=10 mm (13/32"), hard metal
End cap, ceiling
mounting, plastic, 2 | 057.3118.001 Track cleaner, plastic, blue 057.3099.071
anthracite
Soft close
For soft closing in opening and closing direction
order 2 sets.
No.
Soft close Hawa Porta 100, Divido 100,
61-100 kg (133-220 Ibs), 1 piece 042.3102.071
Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22-132 Ibs.), 1 piece 042.3102.072
- | NN
N~ |
o | o
ol | o
o|Se No.
IR
gy
Set consisting of: S| o
Soft close, top running,
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic
Trigger for soft close
in buildings, zinc die 111 | 042.3105.001
casting
2{@% Screw set soft close 1|1 |600.0000.566
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 429




'Hawa [[Z328) 100 GW

Wall mounting

06

2
1
135

40

ofe

3n
%

9
11

Bottom door stopper

Einbauvariante
Mounting version
Variante de montage

1w 190 13u
. RN PR

Ceiling integration

69

231
Pz
8 %2 g5

28
3
32

235

19, 134 123
2 32 32

= o=

69

23u
2

L/
58
235"

057.3089.001~

D Ok

2320
« 19
2 e 7=2480
=2
* T P
Hawa Porta 60/100 HHC 268y | 293"
2 3 = * Montagedffnung
Hawa Porta 60/100 HWHVD/HMT 262 298" ; ) assembly opening
o ouverture de montage
Hawa Porta 100 G/GU/GM/GMT 268 |29 || % B o |1 ]2 o 1]2 -
Hawa Porta 100 GF Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
~ ! [ Hawa Porta 60/100 HWHMDHVIT | 480 | 536 | 500 | 730 | 785 | 840
Hava Porta 100 GW/GWF 26%" | 2 736" | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 2 7%" o 7%” Hawa Porta 100 GF 480 730
Havia Porta 100 GW/GWF 512 (542 | 500 | 762 | 792 | 840
Hawa Divdo 100 FHV/GR 22 | 2 0 | | awa Pora 100GV 488 [530 | 590 | 738 | 789 | 840
, 5o 1, | Hawa Divido 100 F/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hava Divido 100 GRM 283" 12195 | Hawa Divido 100 GRM 512 567 | 622 | 762 | 817 | 872
J-3 = 262
g 3 YR

Accessories
— Lock solutions from page 511

— General accessories from page 518

— Glass recommendations from page 536

2570
> 110"
i 2=2730
Z=>2-43"
Planning/execution

Further information about the product can be found
on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 GW Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.), with surface
mounted running track or running track flush with the ceiling. Wall or ceiling mounting.

—_—
Product highlights i

<\Tﬁ Flexibility Standard applications can be extended with the —
Synchro option

QQ(; Comfort Two simultaneously sliding doors make large,
fully accessible openings possible

Technical specifications

[\ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")
€2 Max. 1200 mm (3'11 1/4") |
N 8-12.7 mm (5/16" to 1/2") //
Installation examples
44
it A
27
32
SRR ONF71Q © i
- e — ORI YN ) M  —
% I S — Il §
49 124
fiEn &

N
[}
N
[}

NN

=

o

P
I
IS

ol

[

in
4
5 |e5eo
- | =
If
o @
R Of i ]
8l s 5
[GING) On
2|2 *
IR

Kantenschutz anbringen!
Fit edge protector!
Mettre un protege-aréte

26
3

~Yofy

50
3
13

©w
w?‘:
e

Sl

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 431



100 GW Synchro

Set for ceiling or wall mounting, for 1 glass door Synchro set
up to 100 kg (220 Ibs.) (order 2x)
No.
No. Hawa Porta 100 GW/GWF Synchro 057.3092.071
Hawa Porta 100 GW, for 1 door 057.3091.071
=
~— C>.
"c\_>_ % No.
g No. mm B
2 Set consisting of: inch) | S
Set consisting of: 3
Cable holder, right, steel, 1 | 057.3088.171

Running gear, ball bearing, zinc-plated

rollers plastic white 2| 057.3114.07

Cable holder, left, steel, 1| 0573088172

i i inc-plated
Sto'pper, WIﬂ"I retention 1 | 057.3073.072 Zinc-p
spring, plastic, gray
St ithout retenti Deviating roller 2 | 057.3090.171
opper, without retention 1 | 057.3073.071
spring, plastic, gray
Kevlar cable,
S o bolt. MBxa5 D=2.5mm o0 | 1| 752.0059.104
uspension bolt, M8x 3/30"
%@(% mm, flat head, steel, black 2 | 600.0000.473 ( )
Protectiv edge 2700
Clamping shoe, glass thick- trim, plastic, 8'12)5/16" 1 | 057.3080.001
ness 6-12.7 mm 2 | 057.3087.071 black ( )
(1/4"-1/2"), aluminum
. Head cap screw, M5x8 mm
Bottom guide, playfree RV N (3/16"x5/16"), 2 | 600.0000.171
adjustable, glass thickness 1 | 057.3082.071 = steel, zinc-plated
8-12.7 mm (5/16"-1/2"), : : ’
chrome-plated, mat
Wall buffer, 19x10 mm Running tracks
@ (3/4"x13/32"), rubber, black | | | 924:0002.046
mm
Clip for panel, every 300 (inch) No.
mm (11 13/16"), plastic, gray, | 1 | 057.3086.051 2500
12-piece set ® 276" 057.3083.250
Running track, 3500
af Countersunk head screw, aluminum, anodized, | " | 057.3083.350
Xy 4x20 mm (5/32"x25/32"), 3 | 766.5042.120 g pre-drilled ( )
steel, zinc-plated . 6.000
’ 057.3083.600
(19' 8 7/32")
Running track,, cut to
aluminum, anodized, size 057.3083.990
pre-drilled
2,500
Wall mounting angle 8 27/16") 057.3100.250
profile, aluminum,
anodized, pre-drilled | CUt10 | o0 a100 990
size
2,000
Disposable cover @eaan | 007-3089.001
Hawa Porta 100 GW/
GWEF, plastic, black C:itzéo 057.3089.990

432 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 GW Synchro

Screw set Accessories
No. No.
Screw set for angle profile, 12-piece set 057.3102.071 )
Bottom door stopper, with
) 20773
centering, chrome-plated, matt
~
o
(V)
S No. Milling jig Hawa Porta 100 GW/
2 GWF (Synchro) 057.3094.001
Set consisting of: 3
Thread rolling countersunk Groove cutter to routing jig
head screw, " ’ 600.0000.309
gt%g,% M5x10 mm (3/16°x13/32%), | 12| 800:0000.345 @= 10 mm (13/32"), hard metal
steel, zinc-plated
Panels Track cleaner, plastic, blue 057.3099.071
mm
(inch) No.
2,500 057.3085.250
(8'27/16")
3,500 057.3085.350
Panel profile, (115 25/32")
aluminum, anodized
6,000 | 457.3085.600
(19' 8 7/32")
cutto | 4573085.990
size
Scre_emng se;l for 20,000 057.3078.002
fascias, plastic, black | (g5' 7 13/32")
End cap set

No.

End cap set for angle profile, plastic, anthracite,
with screws for tracks up to 2500 mm (8'2 7/16")

057.3103.071

End cap, ceiling mounting, plastic, anthracite

057.3118.071

5|5
8|2 No.
IR
B |5
Set consisting of: oo
End Cap, left, plastic, 1 057.3101.002
anthracite
End cap, right, plastic, 1 057.3101.001
anthracite
Screw set for angle
g'%gv% profile, 12-piece set 1 057.3102.071
End cap, ceiling
mounting, plastic, 2 | 057.3118.001
anthracite

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

433



100 GW Synchro

Wall mounting Ceiling integration
69 6
23
06 er) ;
8 %2 ps 2
15"
32
. g .
gl G LL j
- N = 3
5o 15 8|l
IS0 A1 o
057.3089.001 7

+3 +3
-3 3
1w 1u
- o
8 8
@ e ® RN
9115 [10 44 8 15 110 44 8
11u 190 130 Wﬁn 194 13u 1§u
32 32 32 32 32 32 32

Bottom door stopper

Einbauvariante
Mounting version
Variante de montage

Calculations

Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenlénge/track length/Longueur du rail S=(2xR0) + 4%”

50 - - 50

3
15

251
TB=R0O+96 TB=RO+3% 4 18
2 2 %n

Rahmendffnung/frame opening/Ouverture du cadre = RO

BT
g

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

434 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[%Y 100 GWF

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and

self closing mechanism. Ceiling mounting.

Product highlights

<> Flexibility
Aesthetics

Aesthetics

Wall mounting, ceiling integration or surface

mounting on the ceiling possible

Technical specifications

The technology is almost invisible, since it is
contained within the ceiling-integrated running profile

Also available in black as a “Black Edition” design
option for a particularly attractive appearance

/[ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")
i
<> Max. 1600 mm (5'3") /*\
[« 8-12.7 mm (5/16" to 1/2") —
_
Installation examples
X037 s
6 4
% mit Montagedffnung * &
836 with assembly opening ( 87) 85
3" avec ouverture de montage @5
45 8 05 32 32
1% K66 44
32 10w 123
(235" 137
b NS f ©
s - - it i - " -
S5 3| ales Hr ' __(@ Q. 3|k
hio :—x_—%&h: ':%H:
127 25
) E 124 ks 43| |1
-3 4 eI | |3
-10) (Zg) 55?
(%) 23|
e X127 105
£ 127 6 4l
@) ) B
10{ 17 (10 44
B2 Be 4B ®F - 2
A RPN R 32 :
o g% g s |
x| = (@ 10- 12.7mm Glas, Nassversiegelung mit Silikon | T =
ol & 10- 12.7mm glass, wet caulking with silicone ol & = {1 N
3| 3 10- 12.7mm verre scellage au mouillé avec silicone & g
3|5 At No. 098.0027.000 33
8 S &8s Art. No. 042.3064.071 24 38
8 8 8 8 Art. No. 042.3064.072 Tow_ 10
[SIRT] S|o — % 12
=
=
S
8
=
5
£
= o
%m'_g W i gvzt\' NI ©of Jjey
E N } I8 ol Qs
é 50 24 38
5 155 32 16 " 12
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 435



'Hawa [[Z3%Y 100 GWF

Set for ceiling or wall mounting, for 1 glass door
up to 100 kg (220 Ibs.)

No.

Running tracks

Hawa Porta 100 GW, for 1 door

057.3091.071

Hawa Porta 100 GWF, black, for 1 door

057.3091.075

Set consisting of:

057.3091.071

057.3091.075

No.

Running gear, ball
bearing, rollers plastic
white

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without
retention spring,
plastic, gray

057.3073.071

Suspension bolt,
M8x25 mm, flat head,
steel, black

600.0000.473

Clamping shoe, glass
thickness 6-12.7 mm
(1/4"-1/2"), aluminum

057.3087.071

Bottom guide, play-
free adjustable, glass
thickness 8-12.7 mm
(5/16"-1/2"),
chrome-plated, mat

057.3082.071

Wall buffer, 19x10 mm
(3/4"x13/32"), rubber,
black

024.0002.046

Clip for panel, every
300 mm (11 13/16"),
plastic, gray,
12-piece set

057.3086.051

Countersunk head
screw, 4x20 mm
(5/32"x25/32"),
steel, zinc-plated

766.5042.120

Stopper, with retention
spring, plastic, black

057.3073.076

Stopper, without

retention spring, plastic,

black

057.3073.075

Bottom guide, playfree
adjustable, black

057.3082.075

2.
7

Countersunk head
screw, 4x20 mm, steel,
zinc-plated

600.0000.817

mm
inch No.
(
2,500 057.3084.250
(8'27/16")
3,500
Running track, (115 25732 057.3084.350
aluminum, anodized,
pre-drilled 6.000 | 457.3084.600
(19' 8 7/32")
cutto | 957.3084.990
size
2,500
Running track, (8 27/16") 057.3084.255
aluminum, black
anodized, pre-drilled 3,500 057.3084.355
(11' 5 25/32") ! ’
2,000
Disposable cover Eozar | 007-3089.001
Hawa Porta 100 GW/
GWEF, plastic, black cutto 057.3089.990
size
Front edge profiles
mm
inch No.
(
2,500 1 445 3005.250
®'27/16")
Front edge profile for 3,000 042.3005.300
057.3084./042.3001./ | ©'101/8%)
042.3038., aluminum, 6,000
anodized (198 7132°) 042.3005.600
7=
cutto | 445 3005.990
size
Front edge profile for 2500
057.3084., aluminum, o 2 e 042.3005.255
black anodized ¢ )
Panels
mm
(inch) No.
2,500 057.3085.250
(8'27/16")
?”500 .| 057.3085.350
Panel profile, (11" 5 25/32")
aluminum, anodized
6,000 057.3085.600
(19' 8 7/32")
cutto | 957.3085.990
size
2,500
Panel profile, (8 27/16") 057.3085.255
aluminum, black
anodized 3,500 1 457 3085.355
(11" 5 25/32") ’ ’
Screening seal for 20,000
fascias, plastic, black | (57 13/32") 057.3078.002

436

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Fixed glass support profiles

mm
(inch) No.
2,500 057.3056.250
(8'27/16")
Fixed glass pI’Ofil/ 3,500 057.3056.350
guide track, (11" 5 25/32")
aluminum, anodized, 6,000
pre-drilled (16 8 7732°) 057.3056.600
cutto | 4573056.990
size
Fixed glass profil/ 2,500 057.3056.255
guide track, (8'27/18")
aluminum, black 3,500
anodized, pre-drilled | 135 55/30) 057.3056.355
Sealing profile for
fixed glass sup-
port profile, glass 20,000
thickness 8-10 mm (65'7 13/32") 057.3072.001
(5/16"-13/32"),
plastic, black
Set fixing set
No.
Fixing set, aluminum, anodized,
for fixed glass support profile 057.3057., 057.3076.071
fixed glass profil/guide track 057.3056.
Fixing set, aluminum, black anodized,
for fixed glass profil/guide track 057.3056. 057.3076.075
- | O
N~ | N
o | o
RS
55 No.
&2 || <2
B | B
Set consisting of: oo
Cover, aluminum, 2| | 057.3062.001
anodized
Thread rolling rounded
Q head screw, M4x10 mm
%E% (5/32'x13/32"), 15|15 | 762.7008.100
steel, zinc-plated
Cover, aluminum,
anodized black 2 | 057.3062.005

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Soft close

'Hawa [[1%Y 100 GWF

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 100, Divido 100,
61-100 kg (133-220 Ibs.), 1 piece

042.3102.071

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22-132 Ibs.), 1 piece

042.3102.072

- | AN
D~
o | o
ol | o
= =] No.
o | ™
dd
Set consisting of: S| o
Soft close, top running,
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic
Trigger for soft close
in buildings, zinc die 1] 1| 042.3105.001
casting
%@% Screw set soft close 1| 1 |600.0000.566
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Wall compensation profiles
mm
(inch) No.
Wall compensation 2,500 042.3064.071
% profile, with sealing (®27/16")
profile gray, 3,000
aluminum, anodized | (g 1 1/5 042.3064.072
Accessories
No.
Bottom door stopper, with 20773

centering, chrome-plated, matt

Routing jig for assembly
opening

042.3118.071

Groove cutter to routing jig,

@=10 mm (13/32"), hard

metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

437




'Hawa %Y 100 GWF

Ceiling integration Bottom door stopper
86 Einbauvariante
s Mounting version
g 05 86 Variante de montage
- CT

31
7
133
28
3
13

58
25
58
23

Bl H

B ®(8-127) oor 00—

@G-
@ (8-10)
@l %)

o @(0-127)

10

I e T |91

32 32 32 32

(® 10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone
10- 12.7mm verre scellage au mouillé avec silicone
Art. No. 098.0027.000

Calculations

=
+ 190
 ———e) ) 1 ) =
7=3535
* BT o | 12 o | 1] e FERTIST
Hawa Porta 60/100 HHC e | e (1 11d | 24 | 268 |2 9d - TS
029 | g gdu |4 qqdn | i 80 | 01290 | o g3 = ontageorinung
Hawa Porta 60/100 HM/HMDHMT | 1'633" | 197" [1' 113" | 243 | 21622 | 2' oy : ] 5 assembly opening
2 1 3 2 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'65" | 1'o7k" | 11114 | 243 | 265" | 2' 03" * B o |1t |20 1] 2 o
Hawa Porta 100 GF 1622 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
. = 1 - = | Hawa Porta 607100 HWHVID/HWT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GW/GWF 18y | 19" | 11" | 26" | 265" | 2746 | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1ekt | 11 |2 sk | 207k | 217 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HW/GR 162 1ok |11 | 243 | 268 | 219 | [ Hawa Porta 100 GMD 488 539 [ 590 | 738 | 789 | 840
— 5 A a5 o a5 [o ] | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 185" |1105") 105" | 2°6" | 2°85" 12'10%" | ["Hawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

A BT e

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen| > 570
Versions with soft closing mechanism at both 7
sides without access from the leading edge
require two assembly openings

Les versions avec amortissement bilatéral sans L=z 2‘—9%"
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

438 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 GWF Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.), with surface
mounted running track or running track flush with the ceiling. Ceiling mounting.

Product highlights

“Tﬁ Flexibility Standard applications can be extended with
the Synchro option

qQ; Comfort Two simultaneously sliding doors make large,
fully accessible openings possible

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications

/[ Max. 100 kg (220 Ibs.)
M Max. 2700 mm (8'10 5/16")
€5 Max. 1200 mm (3'11 1/4") ==

5[ 8-12.7 mm (5/16" to 1/2") o
__

Installation examples

& I
Rl 2, QOIS @] ol
RHICE T T i =
| |
49 124
15u n
176 4
25 43 |10
kil 1ﬂ 13|
32 16 2
105 F
4l ‘
8

H-63
_o15u
H-233
H-35
3
8

H-13

@ 10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone
10- 12.7mm verre scellage au mouillé avec silicone
Art. No. 098.0027.000

=i J
+

Glas/Glass/Verre
Glas/Glass/Verre
Glas/Glass/Verre
Glas/Glass/Verre

Kantenschutz anbringen!
Fit edge protector!
Mettre un protege-aréte

30

ey
&

26

= 1N f
s = ~ Loy ~yoly
e ‘

=les

15

é 50
20 33 Y\ 04 130
% 120 2

ol

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 439



100 GWF Synchro

Set for ceiling or wall mounting, for 1 glass door
up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 GW, for 1 door

057.3091.071

Hawa Porta 100 GWF, black, for 1 door

057.3091.075

Set consisting of:

057.3091.071

057.3091.075

No.

Running gear, ball
bearing, rollers plastic
white

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without
retention spring,
plastic, gray

057.3073.071

Suspension bolt,
M8x25 mm, flat head,
steel, black

600.0000.473

Clamping shoe, glass
thickness 6-12.7 mm
(1/4"-1/2"), aluminum

057.3087.071

Bottom guide,

playfree adjustable,
glass thickness

8-12.7 mm (5/16"-1/2"),
chrome-plated, mat

057.3082.071

Wall buffer, 19x10 mm
(3/4"x13/32"), rubber,
black

024.0002.046

Clip for panel, every 300
mm (11 13/16"), plastic,
gray, 12-piece set

057.3086.051

Countersunk head
screw, 4x20 mm
(5/32"x25/32"),
steel, zinc-plated

766.5042.120

Stopper, with retention
spring, plastic, black

057.3073.076

Stopper, without reten-
tion spring,
plastic, black

057.3073.075

Bottom guide, playfree
adjustable, black

057.3082.075

Countersunk head
screw, 4x20 mm, steel,
zinc-plated

600.0000.817

440

Synchro set

No.

Hawa Porta 100 GW/GWF Synchro

057.3092.071

~
Q
§ No.
©
mm =
Set consisting of: (inch) o
C_able holder, right, steel, 1 | 057.3088.171
zinc-plated
vl
(9,
p nlﬂ Cable holder, left, steel,
| @@ zinc-plated 1| 057.3088.172
Deviating roller 2 | 057.3090.171
Kevlar cable,
D= 2.5 mm 0000 | 1 | 752.0059.104
(3/32") ( )
Protectiv edge
trim, plastic, 2,700 1 | 057.3080.001
(8'105/16")
black
Head cap screw,
;\g@g@ M5x8 mm (3/16"x5/16"), 2 | 600.0000.171
steel, zinc-plated
Running tracks
mm
(inch) No.
2,500 057.3084.250
(8'27/16")
3,500
Running track, (118 25732 057.3084.350
aluminum, anodized,
pre-drilled 6,000 | 57 3084.600
(19' 8 7/32")
cutto | 957.3084.990
size
2,500
Running track, © 27716 057.3084.255
aluminum, black
anodized, pre-drilled 3,500 057.3084.355
(11" 5 25/32")
2,000
Disposable cover 6 63/4") 057.3089.001
Hawa Porta 100 GW/
GWEF, plastic, black Cu.t to 057.3089.990
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Front edge profiles

100 GWF Synchro

Set fixing set

mm No.
(inch) No. Fixing set, aluminum, anodized,
2,500 for fixed glass support profile 057.3057., 057.3076.071
@2 | 0423009280 | g0 glass profil/guide track 057.3056.
Front edge profile for 3,000 Fixing set, aluminum, black anodized,
057 3084./042.3001.7 | © 1ows | 0423005300 || o fived glass profil/guide track 057.3056. 057.:3076.075
042.3038., aluminum, | 000
anodized (19 8.7/32") 042.3005.600 c|w©
/ 2=
cutto | 942.3005.990 B No.
size AR
N | N
Front edge profile for Set consisting of: o |
057.3084., aluminum, | %% | 042 3005.255 9 ot °|°
black anodized ( ) c lumi
eveiiolichatt 057.3062.001
Panels
i Thread rolling rounded
; head screw, M4x10 mm
inch No. ’
G s, (5/32"13/32", 15|15 | 762.7008.100
2,500 057.3085.250 steel, zinc-plated
(8'27/16")
3,500 Cover, aluminum,
Panel profile, (115 25/32°) 057.3085.350 m anodized black 2 | 057.3062.005
aluminum, anodized
6,000 057.3085.600
(e'8 732 Accessories
cut to
size 057.3085.990 No.
Panel profile, (3'2;5;?12--) 057.3085.255 Bottom door stopper, with 20773
aluminum, black centering, chrome-plated, matt
anodized 3,500 | 457 3085.355
(11' 5 25/32")
Miling g Hawa Pora 100 GW/ | 57300, o1
Screening seal for 20,000 057.3078.002 N Y
fascias, plastic, black | @5' 7 13/32") : :
=== Groove cutter to routing jig,
= " 600.0000.309
Fixed glass support profiles \, @=10 mm (13/32"), hard metal
mm
(inch) No. %@ Track cleaner, plastic, blue 057.3099.071
2,500 | 457 3056.250
(8'27/16")
Fixed glass profil/ 3,500 057.3056.350
guide track, (11" 5 25/32")
aluminum, anodized, 6,000
pre-drilled (1o 8 7/32°) 057.3056.600
cutto | 457 .3056.990
size
Fixed glass profil/ 2,500 057.3056.255
guide track, (8'27/16")
aluminum, black 3,500
anodized, pre-drilled | 115 55/30) 057.3056.355
Sealing profile for
fixed glass sup-
port profile, glass 20,000
thickness 8-10 mm (65' 7 13/32") 057.3072.001
(5/16"-13/32"),
plastic, black
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 441




100 GWF Synchro

Ceiling integration

Bottom door stopper

86 Einbauvariante
2 Mounting version
45 ? 05 86 Variante de montage
3u
1%2.. - a/ g
sl e
Bl ooy - T alam
T | i . Bl
[Se) B % e
o
30 057.3089.001 _—"
5. 8-127)
5 | [@
@ % T
1
3 g | |@(8-10)
3 _|iw
g @ % " ﬁ.‘)
P @
@) ®@10-12.7)
10[ 17 |10 44
130 _1u
B 2h B 4B ®(3'-3")
32 32 32 32
Calculations
Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 4%“
Rahmendffnung/frame opening/Ouverture du cadre = RO
50 P — _ - 50
1 337; , 1 %
TB=RO+96  TB=RO+%%" 4 18
2 2 5.
32
10 Rahmenéffnung/frame opening/Ouverture du cadre = RO 10
ik 13
32 |
» C T
Accessories Planning/execution

— Lock solutions from page 511
— General accessories from page 518
— Glass recommendations from page 536

442

Further information about the product can be found
on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m gejgey 100 G

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.

Product highlights

<\Tﬁ Flexibility Wall and ceiling mounting with aluminium
or wooden panel

Aesthetics The entire technology is concealed behind
plain panels

Technical specifications

[\ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")
£2  Max. 1600 mm (5'3")
»He 8-12.7 mm (5/16" to 1/2")

Installation examples

45
05 130
154 | —— 05 4
116 e 39
N s 13
e ‘
L f _
3 = e
: 0
1% SE
R E =
2 L J o
=
B 97-...-97 +4 97 97 +4
@s-127)]| #| f? W @s-127)] | #| F? @
S5u_1u 5 1
D (53" 5. D (-3 o 5
a2 = | =
20 110/ 20 | 5. 15 10| 20 5,
P5n 134 26n |32 18 13 25n 32
P2 3R 3R 32 32 32
Sy Sy
% —|ges
| = | =
11 1] I n
el e el @
S| B S| @
3l 5 3 7
8| & 8l 8
olo ol
g 2 EE]
GG} GRS}
@ |® <o o @l (@ <]y ~or
:
35 04x20 s;g\ 04x20
(3 13
8 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

_

e —

* mit Montagedffnung
with assembly opening *66 19
avec ouverture de montage 2;%' %"
° ® 0 o 0
-
O 000 O
@ @ (@) @
80 (127)
5. (5"
3" )
124 65 18 [10
i 9 23u [13]
4 @6 52" 2
32
T
ol '
el
@
[
24 - 38
Att. No. 042.3064.071 2ol
Art. No. 042.3064.072
=
s
3
&
50 =
130 5
32 =
. S
&8
24 - 33

i
%1

443



m gelgey 100 G

Set for ceiling or wall mounting, Panels
for 1 glass door up to 100 kg (220 Ibs.)
mm
No. (inch) No.
Hawa Porta 100 G/GU/GM/GF, for 1 door 057.3074.071 2,500 057.3050.250
(8'27/16")
S = 3,500 | 457 3050.350
N~ . .
2 ~ Clip-on panel, (11'5 25/32")
= No. aluminum, anodized
2 6,000 1 457 3050.600
B (19'8 7/32")
Set consisting of: o
cutto | 4573050.990
) ) size
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white )
Scrgenlng segl for 20,000 057.3078.002
fascias, plastic, black | (s 7 13/32")
Stopper, with retention

1| 057.3073.072

spring, plastic, gray
Clip-on components

Stopper, without retention No.

soring. plastic. ara 1| 057.3073.071
pring, p » gray Clip component for wooden

and aluminum panel, every 500

Suspension bolt, mm (1'7 11/16"), aluminium, 057.3117.001
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104 pre-drilled
steel, zinc-plated
S Hexagon locking nut, M8, > | 768.9005.101 Panel end component set, 44.5 mm (1 25/32"), aluminum
= steel, zinc-plated ' )
No.
Clamping shoe, aluminum, -
glass thickness 8-12.7 mm | 2 | 057.3032.075 Panel end component set, 44.5 mm (1 25/32"), 057.3052.074
(5/16"-1/2") one-sided, wall mounting ’ ’
Hexagon screw, M6x20 mm,
(1/4''x25/32") plastic, white 2 | 762.9480.000
No.

S Hexagon jam nut, M6,
@ steel, zinc-plated 2 | 768.2001.101

057.3052.074

Set consisting of:

Panel end component,
44.5 mm (1 25/32"), 1 | 057.3052.904
aluminum, anodized

/l Bottom guide, playfree
%ff adjustable, chrome-plated, 1 | 057.3030.071
& matt

Wall buffer, 19x10 mm

(3/4"x13/32"), rubber, black | | | 024:0002.046 Screw, Mdx2.6 mm
(5/32"x 1/8", 4 | 011.0101.171

steel, zinc-plated

Countersunk head screw,

?@g@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120
steel, zinc-plated

Bracker connector, steel,

; 2 | 057.3051.101
zinc-plated

{l@ |7

Running tracks

mm
(inch) No.
1,700
(5'615/16")
2,000
(6'63/4")
2,500

Combi running track, | ©'27/16"
aluminum, pre-drilled 3,500

(115 25/32")

057.3048.170

057.3048.200

057.3048.250

057.3048.350

6,000 | 573048.600
(19' 8 7/32")
cutto | 57 3048.990
size

444 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Panel end component set, 50 mm (1 31/32"), aluminum

Set consisting of:

057.3052.071

No.
Panel _end com_ponent se_t, 50 mm (1 31/32"), 057.3052.071
one-sided, ceiling mounting

No.

Panel end component,
50 mm (1 31/32"), 1
aluminum, anodized

057.3052.901

Bracker connector, steel,
zinc-plated

057.3051.101

Screw, M4x2.6 mm
(5/32"x 1/8"), 4
steel, zinc-plated

011.0101.171

Bottom guide

m gejgey 100 G

Adjustable without play for wall mounting

No.
Bo_ttom guide wall mounting, 057.3015.175
adjustable free from play

Accessories

No.
Bottom door stopper, with 20773
centering, chrome-plated, matt

% Track cleaner, plastic, blue 057.3099.071

Wooden panels

46
Soft close T
For soft closing in opening and closing direction . 115 2512” 05
>4 035 76
order 2 sets. = = spe g/ e
No. e s E{éwe ol
Soft close Hawa Porta 100, Divido 100, S| ; A=) 3%
61-100 kg (133-220 Ibs.), 1 piece 042.3102.071 N : | F
Soft close Hawa Porta 60/100, Divido 100, SEx= SEZS
10-60 kg (22-132 Ibs.), 1 piece 042.3102.072 |
c IR
SRS 717 +4 717 +{4
| 9. 19 N % % 4
|9 No. Ds-127)] | #| [? ®s-127)|| *| P
™ ™M
o | o @ (-7 o . @ (52" .
isti - = | = 2 - a2 k=
Set consisting of: o|o 15 ol 21 : o1 1ol o1 :
Soft close, top running, » % % v
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic .
Calculations of panels
Trigger for soft close Schiene/Track/Rail Schiene/Track/Rail 9
in buildings, zinc die 111 | 042.3105.001 in
casting
&Egm Screw set soft close 1|1 | 600.0000.566 ™
Soft close, top running, Clipblende/Clip fascia/()acheéc\ipser Clipblende/Clip fascia/Cache a clipser
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072 = Schiene/TrackRall + 7 (") _|| 2 = Schiene/Track/Rail + 7 (35 || ,
plastic . "
Schiene/Track/Rail 3_ 16
Wall compensation profiles e
mm
(inch) No.
Wall compensation 2,500 042.3064.071 f } 8
profile, with sealing (8'27/16")
prOﬁIe gray, 3,000 Holzblende/Wooden fascia/Cache en bois
aluminum, anodized ©101/8") 042.3064.072 = Schiene/Track/Rail + 19 (3)
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 445



'Hawa [[Z31%Y 100 G

Bottom guide with zero clearance Bottom door stopper
25 M5 Einbauvariante
04 1 %.. 13.. Mounting version

Variante de montage

&y .
o PG
- @l [® —
& i L - 045x20
20 [(20-34) 5 815
19 (&1l o BT
Further installation examples
Blende/Cover/Couverture
. Deckenmontage/Ceiling mounting/Montage au plafond
Soft close
7=
1 2
0 1 2 0 1 2
Hawa Porta 60/100 H/HC 165 | 1rerk |1 | 24 |26l | 20 > *
= Montagedffnung
Hawa Porta 60/100 HM/HMD/HMT | 1°683" | 197" [17 113" | 243 | 268" | 2/ 9" ] ) assembly opening
ouverture de montage
Hava Porta 100 G/GU/GM/GMT | 1'653" | 1oy [ 11113 | 243" | 2768|298 | | s B ] o |1 2] o] 1] 2 2
Hawa Porta 100 GF 168 24 Hawa Porta 60/100 HHC 480 | 535 | 590 | 730 | 785 | 840
= = : - > | Hawa Porta 607100 HWHVID/HWT | 480 | 535 | 500 | 730 | 785 | 840
Havia Porta 100 GW/GWF VB | 19" | T'11g" | 26" 265" | 276" | | Yo porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 175 1 ek | 1 1g |2 sgr | 274k | 217 | | Hawa Porta 100 GF 480 730
Fawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divida 100 HHW/GR 16 | vo |11tk | 24 |26 208 | [FawaPota T00GID 488 | 539 | 590 | 738 | 789 | 840
- —s T oG T oo o o5, T 15,1 | Hawa Divido 100 H/HW/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 183" |11105"| 1°05" | 2'6" 1 2°8%" 12'10%" | |"Hawa Divido 00 GRM 512 567 | 622 | 762 | 817 | 872

_ ! ! !o = y
2570
> 1-10%"

2=>730

7=22-43"
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

446 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 G Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.),
with surface mounted running track. Wall or ceiling mounting.

Product highlights
<\Tﬁ Flexibility Standard applications can be extended with
the Synchro option
QQ(; Comfort Two simultaneously sliding doors make large, —
fully accessible openings possible —
Technical specifications )
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8'10 5/16")
€5 Max. 1200 mm (3'11 1/4") |
5[ 8-12.7 mm (5/16" to 1/2") S

Installation examples

45
1%..
39
05 i
\ 52
o 1
B N 0 H
S 35 =
0 =#=
& S| 7
@ © _ :
d S =IEE
97
e
I I O Rt 56
9" an -4
D612 | Z| P 18 124 44 124 35 _|10
. 23 4 12 4L T I
D& -1 2 8 2 8 8 P
6 2 5,
@) *a2
15 110{ 20 |5
10 130 26n 32
R RN 2 -
i ]
S,
5] #
=N
| =

Kantenschutz anbringen!
Fit edge protector!
Mettre un protege-aréte

Glas/Glass/Verre
Glas/Glass/Verre

50
3
13
@l |® < P ; o
35 04
3
18

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 447



100 G Synchro

Set for ceiling or wall mounting,
for 1 glass door up to 100 kg (220 Ibs.) (order 2x)

No.

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

~
Q
g No.
©@
B
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 1| 057.3073.072
spring, plastic, gray
Sto.pper, W|thout retention 1 | 057.3073.071
spring, plastic, gray
Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
steel, zinc-plated
Hexagon locking nut, M8,
>
(=2 steel, zinc-plated 2 | 768.9005.101
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075
(5/16"-1/2")
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white
S Hexagon jam nut, M6,
@ steel, zinc-plated 2 | 768.2001.101
/l Bottom guide, playfree
%ff adjustable, chrome-plated, 1 | 057.3030.071
& matt
Wall buffer, 19x10 mm
(3/4"x13/32"), rubber, black | | | 024:0002.046
Countersunk head screw,
?&g@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120

steel, zinc-plated

448

Synchro set

No.

Hawa Porta 100 G Synchro, for 2 doors

057.3075.071

~
o
g No.
@
mm =
Set consisting of: (inch) o
‘% "rg‘j Cable holder, aluminum 1| 057.0130.071
=2 =
Mounting plate, steel, > | 057.0144.101
S zinc-plated
' Deviating roller, ball bearing | 2 | 055.0101.001
Cable safety, steel, zinc-pla-
ep ted 2 | 056.0124.101
Kevlar cable,
D=2.5mm 3:2?1?12 1| 752.0059.104
(3/32") ‘ ’
Protectiv edge
trim, plastic, 2,700 1 | 057.3080.001
(8'105/16")
black
PT Rounded head screw,
é 5x12 mm (3/16"x15/32"), 2 | 762.9456.100
steel, zinc-plated
Head cap screw,
g M5x16 mm (3/16"x5/8"), 2 | 763.0512.116
steel, zinc-plated
Running tracks
mm
(inch) No.
1,700 057.3048.170
(5' 6 15/16")
2,000 057.3048.200
(6'63/4")
‘2‘500“ 057.3048.250
Combi running track, | (8'27/16")
aluminum, pre-drilled
P 3,800 1 57 3048.350
(11' 5 25/32")
6,000 057.3048.600
(19' 8 7/32")
cutto | )57 3048.990
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




100 G Synchro

Panel end component set, 50 mm (1 31/32"), aluminum

Panels
No.

057.3050.250

(8'27/16")
- 3,500 | 457 3050.350

/ Clip-on panel, (11'5 25/32")

aluminum, anodized

6,000 057.3050.600

(19'8 7/32")

cut to

057.3050.990

Scre_enlng se._all for 20,000 057.3078.002
fascias, plastic, black | 5 7 13/32")
Clip-on components
No.
Clip component for wooden
and aluminum panel, 057.3117.001

every 500 mm (1'7 11/16"),

aluminium, pre-drilled

Panel end component set, 44.5 mm (1 25/32"), aluminum

No.

Panel end component set, 44.5 mm (1 25/32"),

one-sided, wall mounting

057.3052.074

N
o
S
=3 No.
@
5
Set consisting of: o
Panel end component,
44.5 mm (1 25/32"), alu- 1 | 057.3052.904
minum, anodized
Screw, M4x2.6 mm
(5/32"x 1/8"), 4 | 011.0101.171
steel, zinc-plated
Bracker connector, > | 057.3051.101

steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

No.
Panel_end component se_t, 50 mm (1 31/32"), 057.3052.071
one-sided, ceiling mounting
~
o
S
= No.
&
5
Set consisting of: o
Panel end component,
50 mm (1 31/32"), 1 | 057.3052.901
aluminum, anodized
V’ Bracker connector, 5 | 057.3051.101
steel, zinc-plated ’ ’
Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4 | 011.0101.171

zinc-plated

Bottom guide
Adjustable wit

hout play for wall mounting

No.
Bo.ttom guide wall mounting, 057.3015.175
adjustable free from play

Accessories

No.
Bottom door stopper,
with centering, chrome-plated, 20773
matt
Track cleaner, plastic, blue 057.3099.071

=

Wooden panel

46
13u
i

S

39

v
£

7
%

ol ] ©l =
05 % i

|0

82
7
3

& Eié\e

64
17
23

i

©
|| ¢
ks
=
LSl

@
15 [10

m\f ~

21 |32

194 130

2 32

27u

32

449



100 G Synchro

Calculations of panels

Bottom guide with zero clearance

Schiene/Track/Rail 9 Schiene/Track/Rail 25 M5
1 1 3u Su
k7 2 e % 13
WOl Ea
N &z ol .
B Qlese <y g
3T
e @ D | 1 L
e
_ _ o 20 | (20 -34) 5 81.5
Clipblende/Clip fascia/Cache & clipser Clipblende/Clip fascia/Cache & chpgser Tar (250111 & 3
= Schiene/Track/Rail + 7 (35") P = Schiene/Track/Rail + 7 (5") 9 16 132 °'32
il Bl
16 16
Schiene/Track/Rail 316
e Bottom door stopper
8|8
Einbauvariante
Mounting version
Variante de montage
— Aoy
© T\Am
| |
Holzblende/Wooden fascia/Cache en bois
= Schiene/Track/Rail + 19 (%“)
Calculations of panels
Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 4%"
Rahmendffnung/frame opening/Ouverture du cadre = RO
LU ——— 171 ,‘ L = 2y == N
50 50
e N 2 - e
TB=RO +96 TB = R0 +332 4 B
2 2 S
32
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Tiire )
In the middle 1 stopper with retention spring ( right door)
Dans le centre 1 butée avec force ( porte & droite )
10 | :
%‘. i |
'H:.ﬁH : 'ZTT.;‘ E:ﬂ:.; ) | P— s e D el ¥ ) H:ﬁ)ﬂ
E 1 1 ) o e o 1 1 § o o s e 1 LS
Schienenlénge/track length/Longueur du rail S=(2xR0) + 80
Schienenlange/track length/Longueur du rail S=(2xR0) + 33%"
Rahmen6ffnung/frame opening/Ouverture du cadre = RO
f 1
] [
T T T _ _ ; — T T T
T i T ¥ F i T T
] [
kol . - =
15" 7. 13
i TB=RO+56  TB=RO+2% _4 8 i
2 2 S
32
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Ttire )
Ion In the middle 1 stopper with retention spring ( right door )
2 ] Dans le centre 1 butée avec force ( porte & droite ) [
N o T
T —————r L f e f i
]

Accessories

— Lock solutions from page 511

— General accessories from page 518

— Glass recommendations from page 536

450

Planning/execution
Further information about the product can be found
on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z31%Y 100 GU

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

M . . .
> Comfort Smooth, quiet sliding and gentle stopping of the 1\
door with integrated soft and self closing system %r\:
M Productivity = No glass processing thanks to clamping shoe
connection
Technical specifications )
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8'10 5/16")
&2 Max. 1600 mm (5'3") //\
)« 8-12.7 mm (5/16" to 1/2") |
Installation examples
45
13
3 ‘:? *mil Montagedffnung
32 1@ 9 4 13 with assembly opening 66) 11
- T T avec ouverture de montage 19w | 7u
die y 28 [ | Fw o FH] g Gl
— [1r A\
ol N = .
S| Lo - g/ 1 B B Ol M (o)
Bl -
5 6 o ool o
el | ONING) Q @ o0l |
N 7
4 KB 50
3 (55" 35"
717
¥ B WL 4|18 124 124 *(73 18]]l 2
- 32 " " ] u
@(8-127) K Erg)pe 4 4 (2581 %
" 8
D -3 ©) 4 TB- 8 4
15 [10] 20 5 - 2
190 130 25
32 32 32 =
NG
== S~
I‘ pu
Il 11
gl g ( )
=
S| 3
o <
[GIRE)
50
L
@ |B) <) ) e
] _ g E
35 N\ 04
i

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 451



'Hawa [[Z31%Y 100 GU

Set for ceiling mounting, Panels
for 1 glass door up to 100 kg (220 Ibs.)
mm
No. (inch) No.
. / Design-panel, 6,000 1 57 3070.600
o aluminum, anodized (19'8 7/32")
<
= No.
3 cutto | 557.3070.990
B sSize
Set consisting of: o
2,500 | 57 3039.250
) ) (©'27/16")
Running gear, ba_II bearing, 5 | 057.3114.071 Clip-on panel, for 6.000
rollers plastic white clamping shoe, 19|; /3 057.3039.600
aluminum, anodized ( )
cut to
: : . 057.3039.990
Sto'pper, WIﬂ"I retention 1| 057.3073.072 size
spring, plastic, gray
End cap set
Sto.pper, W|thout retention 1 | 057.3073.071 No.
spring, plastic, gray
End cap for panels 057.3061.071
Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104 iz
steel, zinc-plated f_’.
. = No.
S Hexagon locking nut, M8, > | 768.9005.101 ®
(= steel, zinc-plated ’ ’ 5
Set consisting of: o
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075 End cap, left for panel,
(5/16"-1/2") plastique, anthracite 2 | 057.3059.001
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white End ioht |
H i t M6 p;;st?glﬁ)érgntthg::ﬁ:ne ’ 2 | 057.3059.002
S exagon jam nut, M6, )
@ steel, zinc-plated 2 | 768.2001.101
A Bottom guide, playf E
ottom guide, playfree | End cap holder, plastic,
s(” adjustable, chrome-plated, | 1 | 057.3030.071 anthracite 2 | 057.0141.001
& matt
Wall buffer, 19x10 mm End cap, left for desian-
" " 1 | 024.0002.046 P, g
(3/4"x13/32"), rubber, black @ panel, plastic, anthracite 1| 057.3071.001
Countersunk head screw,
ég@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120 End cap, right for track, 1 | 057.3071.002
steel, zinc-plated plastic, anthracite : )
Running tracks . .
% Clip to panel, plastic, gray 4 | 057.3060.001
mm
(inch) No. <
P“o& Plate, steel, zinc-plated 2 | 057.3077.101
1,700 1 957.3048.170 \e‘y
(5'615/16")
2,000 | 5523048200 Head cap screw, M5x18 mm
(6'63/4") &@ﬂ% (3/16"x23/32"), 8 | 600.0000.661
steel, zinc-plated
o o | 057.3048.250
Clom.b' runnlng_(tjrglclzké Head cap screw,
aluminum, pre-driied | 3,500 | 1523048 350 %Eg@ M5x20 mm (3/16"x25/32"), | 8 | 763.0508.120
(115 25/32") steel, zinc-plated
(151307?32”) 057.3048.600 Thread rolling rounded
%@ head screw, M5x16 mm 2 | 600.0000.168
cutto | o57.3048.990 (3/16™5/8"),
size steel, zinc-plated

452

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Soft close

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 100, Divido 100,
61-100 kg (133-220 Ibs.), 1 piece

042.3102.071

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22-132 Ibs.), 1 piece

042.3102.072

Accessories

'Hawa [[Z31%Y 100 GU

No.

Bottom door stopper,
with centering,
chrome-plated, matt

20773

7

Routing jig for
assembly opening

042.3118.071

Groove cutter to routing jig,
@= 10 mm (13/32"), hard metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

~— | AN
N~ |
o | o
INIEN
= =] No.
IR
3| g
Set consisting of: oo
Soft close, top running,
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic
Trigger for soft close
in buildings, 1|1 | 042.3105.001
zinc die casting
&Eﬂ% Screw set soft close 1|1 |600.0000.566
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
<
S
§ No.
[sp)
g
Set consisting of: o
)
Cover cap assembly
\/ opening, plastic, gray 1 | 042.0172.001
&E& Screw set soft close 1 | 600.0000.566
Bottom guide
Adjustable without play for wall mounting
No.
Bottom guide wall mounting, 057.3015.175

adjustable free from play

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

453




Hawa [

Bottom door stopper Wall mounting bottom guide
Einbauvariante 25 4.5
Mounting version 04x20 % 1%"

Variante de montage

@
@

25
1
2

IS

2
%.
O
64
2%::

045x20 Ele

20 | (20 - 34 815

13w (250 _ 41w
(5137

leTor

'
3%

Sl

Soft close

=
 ——— ) 1 2
* B o [+ L2012 P
Hawa Porta 60/100 HHC 165 | 1o |11l | 24 | 268 2103
2 | ; 3 2 3 = * Montagedffnung
Hawa Porta 60/100 HWHMD/HMT | 1' 633" | 1" 975" [ 11113 | 2' 43" | 2633 | 2' 95" ] ) assembly opening
ouverture de montage
Hawa Porta 100 G/GW/GM/GMT | 1'653" | 197" | 11113 [ 204 [ 268 |20 | | % o |1 |20 1|2 =
Hawa Porta 100 GF 165" 24 Hawa Porta 60/100 H/HC 480 | 535 | 590
- - : - | Hawa Porta 60/100 HWHMD/HNIT | 480 | 535 | 690
Hawa Porta 100 GW/GWF Ve |19 | V11| 26" | 265" | 276" | [ Hawa Porta 100 G/GW/GM/GMT | 480 | 535 | 500
Hawa Porta 100 GMD 17h e (1| 25k | 217k 2173 | | Hawa Porta 100 GF 480
Hawa Porta 100 GW/GWF 512 | 542 | 590
Hawa Divido 100 FHVWGR 16 [ 1ol |11l | 243|262 | 2o | [HawaPorta T00GND 488 | 539 | 590
- E T o T o e o abe Tor i | | Hawa Divido 100 HHW/GR 480 | 535 | 590
Hawa Divido 100 GRM 185" 1105 110§ | 26" | 285" |2 108" | iawq Dvido 100 GRMT => Teer 600
: @k
2570
7
>1'-1075
' 2=2730
Z=>2-43"
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

454 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[252) 100 GM

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and
self closing mechanism. Ceiling mounting. Minimal installation height.

\\
Product highlights
ghlig '\\/

Aesthetics Variable design panels for individual look

M Productivity No glass processing thanks to clamping shoe
connection

Technical specifications

[\ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")

£2  Max. 1600 mm (5'3") |
/ \

)« 8-12.7 mm (5/16" to 1/2")

/
Installation examples
30
1%” 0 5x40 30
1%“ * mit Montagedffnung
05 11 with assembly opening 66)_ 11
N 7 avec ouverture de montage 19 (7.
L NG 6 (233" |5
) Qo ) I i OIS " P OO
m;ém OO0 || i 8 | v P | @
- N v pie o piaso <
e ~e L © UJ@,—%ﬁ@ © [¢) @(ﬁ)@lﬂ [¢) i
N ¢
]
J L
80 *(135) 80
Q| Q[ 3%.. (5%u) 3%..
7117 |+ 7117 | =
2 B L el 2 B g e o 2|8 124 124 * 38|
% 5|E 2 5 £ ol 23 it P 2y 213
1 g2 | 35 32 || (32 8 8 8/ 32 |||32
g a3 8 2l 4
® gs D ¢S 4 o2 3
10 g2 10 2 3 2 T8 -3 5"
13 eo 13u @l 2 %
2 2
D(8-127) D(8-127)
g pu =y
50 1 S5u_Tu
@D (5" -2") @D (" -2") ( )
50
31
15
&| (@ ~]ok @| [ ~]ok & ff_%
~[ofy ol _
BI04 BI04
3 3
13 13
8 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 455



'Hawa [[31%) 100 GM

Set for ceiling mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

Running tracks

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

mm
(inch) No.
1,700 057.3016.170
(5' 6 15/16")
2,000 057.3016.200
(6'63/4")
/ Runnllng track, . 2,500 057.3016.250
aluminum, pre-drilled | ('27/16")
6,000 057.3016.600
(19' 8 7/32")
cutto | 4573016990
size
2,000 057.3016.201
(6'63/4")
2,500
/ Running track, @o7ne | 0°7-3016.251
aluminum, anodized,
pre-drilled 6.000 | 457 3016.601
(19' 8 7/32")
cutto | 457.3016.991
size
Running track, with 2,500 057.3016.256
assembly opening, (8'27118")
aluminum, anodized, cut to
pre-drilled size 057.3016.998
2,500 27668
(8'27/16")
Running track, 3,500 27667
V ceiling integration, (11'525/32")
aluminum, anodized, 6,000
pre-drilled (19' 8 7/32") 30326
cutto 27669
size
Disposable cover to 2,000 057.3098.001
running track Hawa (66347
Porta 45/60/100, cut to
plastic, black size 057.3098.990

~
e
g No.
@
5
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 1| 057.3073.072
spring, plastic, gray
Sto.pper, W|thout retention 1 | 057.3073.071
spring, plastic, gray
Suspension bolt, M8x32 mm
(5/16"x1 1/4"), 2 | 057.0123.104
steel, zinc-plated
Hexagon locking nut, M8,
>
(=2 steel, zinc-plated 2 | 768.9005.101
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075
(5/16"-1/2")
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white
S Hexagon jam nut, M6,
@ steel, zinc-plated 2 | 768.2001.101
/l Bottom guide, playfree
%ff adjustable, chrome-plated, 1 | 057.3030.071
& matt
Wall buffer, 19x10 mm
(3/4"x13/32"), rubber, black | | | 924:0002.046
Countersunk head screw,
?&g@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120

steel, zinc-plated

456

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set

No.

End cap set

'Hawa [[252Y 100 GM

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

End cap for panels

057.3061.072

Assembly set Hawa Porta 60/100, A\l
2500 mm (8' 2 7/16") 057.3179.250 5
o No.
Assembly set Hawa Porta 60/100, Q
3000 mm (9' 10 1/8"") 057.3179.300 2
Set consisting of: o
S|3|8
N | Q™ End cap, left for panel,
IR No. W plastique, anthracite 2 | 057.3059.001
®| ™| ®
g |l
Set consisting of: (inch) oo |o End it |
: nd cap, right for panel,
Running plastique, anthracite 2 | 057.3059.002
track, 2000
aluminum, © ’63/4 ) 1 057.3174.200 ~
anodized 72 .
L End cap holder, plastic,
pre-drilled anthracite 2 | 057.0141.001
Assembly pin,
. 9 |11 ]13| 057.0201.001
plastic, gray % Clip to panel, plastic, gray 4 | 057.3060.001
Countersunk head Head cap screw, M5x18 mm
screw, 5x40 mm 1012 14| 766.3054.140 &E&v (3/16"x23/32"), 8 | 600.0000.661
(3/16"x1 9/16"), steel, zinc-plated
steel, zinc-plated
Running Head cap screw, M5x20 mm
track, 5 ‘&Eﬁ@ (3/16"x25/32"), 8 | 763.0508.120
aluminum, | 2200 1 057.3174.250 steel, zinc-plated
) (8'27/16")
anodized,
pre-drilled
Running Soft close o . . . _
track, For soft closing in opening and closing direction
aluminum, 3,000 1 | 057.3174.300 order 2 sets.
) (©'101/8")
anodized,
pre-drilled No.
Soft close Hawa Porta 100, Divido 100,
Panels 61-100 kg (133-220 Ibs.), 1 piece 042.3102.071
Soft close Hawa Porta 60/100, Divido 100,
mm 10-60 kg (22-132 Ibs.), 1 piece 042.3102.072
(inch) No.
2,500 | 457 3030.250 -
(8'27/16") SERS}
Clip-on panel, for 6.000 g ,% No.
clamping shoe, ’ 057.3039.600 ® | ™
; . (19'8 7/32") 1|02
aluminum, anodized Set sti ; || &
et consisting of: o|o
C:itzéo 057.3039.990 9

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Soft close, top running,
61-100 kg (133 to 1
220 Ibs.), plastic

042.3106.071

Trigger for soft close

in buildings, zinc die 1|1 | 042.3105.001
casting
%@&n Screw set soft close 1] 1 |600.0000.566

Soft close, top running,
10-60 kg (22 to 132 Ibs.),
plastic

042.3106.072

457




'Hawa [[31%) 100 GM

Cover for assembly opening Track installation Pocket
No.
Cover cap to assembly opening, 1-piece set 042.3114.071 [
S @
&)
§ No. v
[se)
o )
Set consisting of: IS) =
S<D-13l
? | Cover cap assembly
\/ opening, plastic, gray 1 | 042.0172.001
?%E% Screw set soft close 1 1 600.0000.566
Accessories Bottom door stopper
Einbauvariante
No. Mounting version
Variante de montage
Bottom door stopper, with
centering, chrome-plated, matt 20773
045x20
Routing jig for assembly
% opening 042.3118.071
>
% Groove cutter to routing jig,
~"—, | &= 10 mm (13/32"), hard metal | 600-0000.309
%@ Track cleaner, plastic, blue 057.3099.071

458 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[252) 100 GM

Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.

8u Abdeckung Montagedffnung bauseitig
3" Cover assembly opening on site 672
Cache ouverture de montage sur site 275"
== p={INY s
05 E;I ws oM e
|
Nero 2| I
H
o -
5|k
+H1 3 e
-13 - :|':
I 135
ele 5
7l 17 1 % 2 = 5
oo % 3|2 124 73
2| p2 e 9IS 4 ol 3.
8 88 8 8 32
[GI{G)
D
$1130 Abdeckung Montagedffnung bauseitig
%" Cover assembly opening on site 66
®(8-127) Cache ouverture de montage sur site SR
32
DE - o o)
X
\ SERNEES
8|k
O
D) <oy ) 672
~[olSy ok
35 .04
ik
Soft close
7=
" 19
 ——e) ) 1 ) =
Z=2535
* B o | 1l 2 o | 1| Z-= ok
Hawa Porta 60/100 HHC 1' 6%" 1! 9%" 1" 11%" 2' 4%" 2 6%" 2 9%" 2 * Montagebnung
Hawa Porta 60/100 HWHMDMMT | 1'623" | 1" 9" | 11114 | 2143 | 268" | 2/ 9" ] ) assembly opening
" | 2 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'633" | 197" [1' 114" | 243 | 2'653" | 2/ 93" * o |12 o0] 1] 2 =
Hawa Porta 100 GF 1 6%" 2' 4%" Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
S o ] % 3 Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF V83" | 9" | 1M1 | 26" 265" | 2'746" | [ awa Porta 100 6/GWEM/GMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 17 (e | 11 |2 sgke | 274k | 217 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840
Hawa Diido 100 HHVGR ve | vol |11k | 24 |26 208 | [FavaPota T00GID 483 [ 539 | 590 | 738 | 789 | 840
— 5 A o | 5w T2 a5 lo ] | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Havia Divido 100 GRM 8" 110" 110" | 26" | 2'855" |12'1055" | [yawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

A BT - OIC

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen.|
Versions with soft closing mechanism at both
sides without access from the leading edge
require two assembly openings

Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 459



'Hawa [[Z31%Y 100 GMD

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.
Minimal installation height.

Product highlights \/

M . - .
> Comfort Smooth, quiet sliding and gentle stopping of the
door with integrated soft and self closing system D\
—
M Productivity  Efficient installation thanks to clamping shoe
connection and clip panels
Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance
Technical specifications )
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8' 10 5/16")
&2 Max. 1600 mm (5' 3") /\
5[e 8-12.7 mm (5/16" to 1/2") —
]
Installation examples
46 16 445 5 25
1%., 2 g 13.‘39 % % * mit Montagedffnung ©6) 25 ;
05 1 = 05 4 1 with assembly opening -l
] 35 i ] 1%” Ngeolsy avec ouverture de montage *( ") 5" 5"
S i T[oe i ;
g =n - : e — =l | ﬁ A o
5 |ée ! = 5 de ] - ] - ! :
— ~ | Oy o = I~
=<| ISP - = 3 = p
B = 8 & e = 2| S > © s
+?2 +|2 3 18 10
2 -2 I 13
8 32 32
+ 3% + %”
| 3. |34
D(8-127) 2 D(8-127) 32
QE-| | | Q-] | |
15 19| 21 15 [10/195
LR TH 190 130 26
32 32 32 - 32 32 32 -
T
(=2}
ol o
Ml g 2410 22 (+1/1)
| | —
C‘I‘) qll) 1l 11
| < 3| 8
I o e
50
e
Syl ) @&| [® o . ; o
oS — Tl — B
35 04x20 ;%\ 04x20
13 13
8 8

460 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [ 100 GMD

Set for wall mounting,
for 1 glass door up to 100 kg (220 Ibs.)

Set for ceiling mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No. No.
Hawa Porta 100 GMD, for 1 door 057.3153.071 Hawa Porta 100 GMD, with running track
Hawa Porta 100 GMD, black, for 1 door 057.3153.075 | [k ohee IR = e S 057.3155.071
anodized, for 1 door
| O
~ | N —
o | o N~
32|~ >
z |2 0. © No.
5|5 mm | e
Set consisting of: °l° Set consisting of: (inch) 8
Running gear, ball
bearing, rollers, plastic, 2 | 2 | 057.3114.071 Running gear, ball bearing, 5 | 057.3114.071
white rollers, plastic, white ’ ’
Stopper, with retention . .
spring, plastic, gray 1 057.3073.072 Sto.pper, W|th retention 1 | 057.3073.072
spring, plastic, gray
Stopper, without reten- . .
tion spring, plastic, gray 1 057.3073.071 Sto_pper, W|tr_10ut retention 1| 057.3073.071
spring, plastic, gray
Suspension bolt .
" Suspension bolt, M8x30
A g?g%osf‘t“engl(ifi :]i_’“lated 2 | 2| 057.0123102 NN mm (5/16"x1 3/16"), steel, | 2 | 057.0123.102
’ ’ P zinc-plated
Hexagon locking nut, .
S
& M8, steel, zinc-plated | 2 | 2 | 768.9005.101 & Hexagon locking nut, M8, | , | 754 9005 101
steel, zinc-plated
Clamping shoe, glass :
) Clamping shoe,
thickness 8-12.7 mm .
?
(5/16"-1/2", steel, 2 | 2 | 057.3152.071 gljass“th/lclu(ness 8712.7 mm > | 057.3152.071
zinc-plated (5/16"-1/2"), steel,
zinc-plated
Bottom guide, A Bottom guide, playfree
playfree adjustable, 1 057.3030.071 .? ttom guide, play
chrome-plated, matt L adjustable, chrome-plated, 1 | 057.3030.071
’ v matt
Wall buffer, 19x10 mm Wall buffer. 19x10
3/4"x13/32"), rubber, 1| 1| 024.0002.046 all burter, [9x1Umm
1072 o) (3/4"x13/32"), rubber, black | | | 024:0002.046
Countersunk head %g Countersunk head screw,
screw, 4x20 mm 4x20 mm (5/32"x25/32"), 3 | 766.5042.120
5%@‘%’ (6/32"x25/32"), steel, 8 766.5042.120 T steel, zinc-plated
zinc-plated
. . End cap set, plastic,
Sto_pper, W|tr_1 retention 1 | 057.3073.076 @ anthracite 1 | 057.3154.071
spring, plastic, black
Stopper, without .
retention spring, plastic, 1 | 057.3073.075 Track cleaner, plastic, blue 1 | 057.3099.071
black
Bqttom guide, / Combi runqing 1,096
adjustable play free, 1 | 057.3030.075 / track, aluminum, 66 10/32) 1 | 057.3048.199
black pre-drilled
Counte;sgr(])k head Clip-on panel, 5000
screw, 4XzU mm aluminum, ’ 1| 042.3004.199
A (5/32"x25/32"), steel, 3 | 600.0000.817 anodized © 63"
zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

461




'Hawa [[Z31%Y 100 GMD

Running tracks Panel end component set, 44 mm (1 23/32"), aluminum
mm No.
vl N Panel end component set for wall mounting,
1,700 057.3048.170 44x60 mm (1 23/32"x2 3/8"), aluminum, 042.3028.054
(5' 6 15/16") black anodized
2,000 Panel end component set for wall mounting,
eooan | 007:3048:200 || 4460 mm (1 23/32"x2 3/8"), aluminum, anodized | °42-3028.074
2,500 | 57 3048.250 <
Combi running track, | ©'27/16" o N
aluminum, pre-drilled 3.500 g g
’ 057.3048.350 ISR No
(11' 5 25/32") 218 :
6,000 e g9
(987732 | 007-3048.600 | Set consisting of: S| S
cut to Panel end component,
. 057.3048.990 "
size ﬁ 44 mm (1 28/32"), 1 042.3028.954
aluminum,
2,500 black anodized
Combi running track, 2716 057.3048.255 'z
aluminum, black Bracker connector,
anodized, pre-driled | 3500 | 4523040 355 steel, zinc-plated 2| 2| 057.3051.101
(11' 5 25/32")
Screw, M4x2.6 mm
Panels (5/32"x 1/8"), steel, 4| 4| 011.0101.171
‘ zinc-plated
mm
(inch) No. Panel end component,
2500 44 mm (1 23/32"), 1 | 042.3028.904
. ; e 042.3004.250 aluminum, anodized
3,500 042.3004.350 Panel end component set, 49 mm (1 15/16"), aluminum
Clip-on panel, (11" 525/32")
aluminum, anodized No.
6\?’000” 042.3004.600
(19'87/82") Panel end component set for ceiling mounting,
cut to 49x60 mm (1 15/16"x2 3/8"), aluminum, black 042.3028.051
size 042.3004.990 Ereehes
2,500 Panel end component set for 057.3048.,
Clip-on panel, @ ommey | 042-3004.255 || 49560 mm (1 15/16x2 3/8"), aluminum, anodized, | 042.3028.071
aluminum, black for ceiling mounting
anodized 3,500 1 445 3004.355
(11' 5 25/32")
o[~
oo
Screening seal for 20,000 057.3078.002 MRS No.
fascias, plastic, black | (es' 7 13/32") ’ ’ c9>_ 3
A | N
< |
o | o

Clip-on components

No.
Clip component for wooden
o i pareh eny SO0 | 5711701
pre-drilled
Clip component for wooden and
aluminum panel, every 500 mm 057.3117.005

(1' 7 11/16"), aluminum, black

anodized, pre-drilled

462

Set consisting of:

Panel end component,
49 mm (1 15/16"),
aluminum,

black anodized

042.3028.951

Bracker connector,

zinc-plated

steel, zinc-plated 2| 2| 057.3051.101
Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4 | 4| 011.0101.171

Panel end component,
49 mm (1 15/16"), 1
aluminum, anodized

(7@ |{|[T

042.3028.901

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




End cap set

No.

'Hawa [[%Y 100 GMD

Cover for assembly opening

No.

End cap set, plastic, anthracite

057.3154.071

Cover cap to assembly opening, 1-piece set

042.3114.071

057.3154.071

Set consisting of:

No.

Set consisting of:

042.3114.071

No.

End cap, left, 44 mm
(1 23/32"), plastic, anthracite

ad

057.3154.001

Cover cap assembly
opening, plastic, gray

042.0172.001

End cap, right, 44 mm
(1 23/32"), plastic, anthracite

057.3154.002

Soft close

For soft closing in opening and closing direction

order 2 sets.

%gg%

Screw set soft close

600.0000.566

Bottom guide

Adjustable without play for wall mounting

No.
No.
Soft close Hawa Porta 100, Divido 100 Bottom guide wall mounting, 057.3015.175
61-100 kg (133 to 220 Ibs.), 1 piece 042.3102.071 adjustable free from play
Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece 042.3102.072 Accessories
— | NN No.
N~ |
oo
A | N .
S| o No. Botton_1 door stopper, with 20773
[N ) centering, chrome-plated, matt
Al | N
Set consisting of: 3|3
Soft close, top running, \\‘ Sogrtmlirr]]g jig for assembly 042.3118.071
61-100 kg 1 042.3106.071 S | opening
(133 to 220 Ibs.), plastic
. = Groove cutter to routing jig,
Trigger for soft close % _ " 600.0000.309
in buildings, zinc die 1|1 | 042.3105.001 == | 0= 10mm (13/32), hard metal
casting
Track cleaner, plastic, blue 057.3099.071
i‘?.%@,% Screw set soft close 111 |600.0000.566
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 463




Hawa [

Ceiling mounting Bottom door stopper Calculations of panels
49 Einbauvariante 5 Schiene/Track/Rail Schiene/Track/Rail 9
150 3. fi
12 05 Mounting version 3 11
i T Variante de montage 1 %2
% é“é}; H w0 w
o e ¥/ S 3 FE
% N R —
045x%x20
Clipblende/Clip fascia/Cache & clipser Clipblendey/Clip fascia/Cache a clipser
+2 = Schiene/Track/Rail = Schiene/Track/Rail + 7 (3%") 9
-2 A
76
3
H32
3 16 3 Schiene/Track/Rail Schiene/Track/Rail 9
k2 S || 1n i
8 |8 kz)
28
| |
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail + 19 (%”) = Schiene/Track/Rail + 7 (%H) )
"1,
16
Wall mounting bottom guide
25 4.5
04 3l IE]
32 8
rel =
[SYRZ ) [Tol e
Pelice
N Ee ® <
N ] T
20.5 | (20 - 34) 15 81.5
v (250 111 3 T
B &% % %

464 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [ 100 GMD

Soft close

72 >320
1 190
1 2 >1
7=253%

0 1 2 0 1 2 Zoz1'90
Hawa Porta 60/100 H/HC TR ek |1 | 2 4d |26 |29 = * i

2 ’ ] 3 29 B = Montagedffnung
Hawa Porta 60/100 HWHMD/HMT | 1162 | 197k |11 11) | 2143 | 262 | 2' 9" 1 5 assembly opening

ouverture de montage

Hawa Porta 100 G/GU/GM/GMT | 162" | 1975 [ 1111 | 2143 | 26" | 2' 9" * o |1 2] 0] 1

Hawa Porta 100 GF 1 623" 24 Hawa Porta 60/100 H/HG 480 | 535 | 590 | 730 | 785
- b : » > [ Haa Porta 60/100 HWHMDHMT | 460 | 635 | 690 | 730 | 785
Hawa Porta 100 GW/GWF Vo' | 19" | T'11g" | 2°6" | 263" | 2'746" | | Yawa Porta 100 G/GUGW/EMT | 480 | 535 | 500 | 730 | 785

Hawa Porta 100 GMD 17 e | 1| 25tk |2 7k | 27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 [542 | 590 | 762 | 792
v 29 | srodr |1 1100 | o 23 | 229 | o o3 | [ Hawa Porta 100 GVID 488 [530 | 590 | 738 | 789

Hawa Divido 100 HHWGR 162 | ol |1l | 24 262|293

— T T o oo o5 | Hawa Divido 100 H/HWGR 480 | 535 | 590 | 730 | 785
Hawa Divido 100 GRM T8y" |11105"| 105" | 26" | 285" |2'10%" | | Haua Divido 100 GRM 512 | 567 | 622 | 762 | 817

A B aest—

Beidseitig gedampfte Ausfilhrungen ohne stirmn-

seitigen Zugang erfordern zwei Montagedffnungen.| 2570
Versions with soft closing mechanism at both ' 7n
sides without access from the leading edge =11 Oﬁ

require two assembly openings. :
Les versions avec amortissement bilatéral sans Z=2>2"9"
acces frontal exigent deux ouvertures de montage.

Soft close

=
1 2
Z=>1480
0 1 2 0 1 2 1=2 16
Hawa Porta 60/100 HHC 165 1ok |1 | 24 |26 | 2 0
20, ] ] 3 2 3 Z= * Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'635" | 1" 9" | 1" 117" | 247" | 2' 65" | 2' 935" 1 2 assembly opening
2, 1 1 3 20, 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'653" | 19" | 11113 | 249" | 265" |29 | | s B | o |1 ]2 o 1]2 %
Hawa Porta 100 GF 168 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
; - : » 5> | Hawa Porta 607100 HWHMD/HNIT | 480 [ 535 | 690 | 730 | 785 | 840
Hawa Porta 100 GW/GWF V8" | 19" | 112" | 26" 265" | 276" | | Hawa Porta 100 G/GWGMWGMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 | 109 | 1113 | 215k | 217k 2 7 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 1 6%“ 1 g%” 1 e | o 4%- 2 6%“ o 9% Hawa Porta 100 GMD 488 539 | 590 | 738 | 789 | 840
y s T A ot T oo T B 1o 15 | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
‘ Hawa Divido 100 GRM 185" 111057 105" | 2°6" | 2'855" 12'10%" | 'Hawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872
2672 i — S = — A
2" i ° :MI_—‘I °
=4
>570
> 1-10%"
1 2=>730
Z=>2-4%
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 465



'Hawa [[%Y 100 GMT Pocket

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing
mechanism. Ceiling mounting. Minimal installation height. Wall pocket solution.

Product highlights
® ToeS——
> Comfort Soft sliding into pocket with efficient movement i i
support thanks to Push-to-open with self closing E— T
mechanism
M Productivity = Door can be installed in pocket after construction is
complete
M Productivity No glass processing thanks to clamping shoe
connection
Technical specifications
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8' 10 5/16")
&2 Max. 1600 mm (5' 3")
/{\/\

Sfe 8-12.7 mm (5/16" to 1/2") —

Installation examples

|
30 |
30
3
136 45 1%.‘ oohne Montagedffnung 66 (1 1)0
125 without assembly opening = 219 (l.,) =
05 g2 sans ouverture de montage 32 16
oo |
N 7
1N _.'/ d
gl —IB= -E @
>8 >8 Ny
) =0 ] |
i6 76 N
* % ‘
L] B e o g 135 (85)0
ot v M 3 T ‘ 5" ) (o)
w| B o o 45 18 18 } 124 124 73 (18) 2
5 5 254 234 234 Zu i) Zu (23 3.
=HE 132 % @ 3 % % @) ||z
1 Dl B
D +35 gls 4 4 | 1B-8 4
1u 3|3 5 5. “5. 5
11:? w38 2 3 | B4 3
> \
= !
D(8-127)
—— ( )
5. 1
@ (35"-2") |
|
|
|
|
! **
| Fiir das Ein- und Ausschwenken darf eine Blende bis max. Unterkante
der Schiene reichen.
| At least one of the panels must end at the lower edge the running track
| in order to be able to swivel the door inwards and outwards.
Pour que le pivotement puisse s'effectuer, un cache pourra au maximum
| atteindre le bord inférieur du rail.
“paet & 1 e
33 50
31,
04 %

466 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for ceiling mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

'Hawa [[21%) 100 GMT Pocket

Set for ceiling mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 GMT, for 1 door

057.3184.071

Set consisting of:

057.3184.071

No.

Running gear, ball bearing,
rollers, plastic, white

N

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without retention
spring, plastic, gray

057.3073.071

Suspension bolt,
M8x32 mm (5/16"x1 1/4"),
steel, zinc-plated

057.0123.104

S Hexagon locking nut, M8,
steel, zinc-plated

768.9005.101

Clamping shoe, aluminum,
glass thickness 8-12.7 mm
(6/16" to 1/2")

057.3032.075

Hexagon screw, M6x20 mm
(1/4"x 25/32"), plastic, white

762.9480.000

Hexagon jam nut, M6,
steel, zinc-plated

768.2001.101

Bottom guide, playfree
adjustable, glass thickness
8-12.7 mm (5/16" to 1/2"),
chrome-plated, mat

057.3082.071

Wall buffer, 199x10 mm
(8/4"x13/32"), rubber, black

024.0002.046

Countersunk head screw,
4x20 mm (5/32"x25/32"),
steel, zinc-plated

766.5042.120

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Hawa Porta 100 GMT, with Push-to-open,
with running track, 2000 mm (6' 6 3/4"),
aluminum, anodized, for 1 door

057.3184.072

Hawa Porta 100 GMT, with Push-to-open,
with running track, 2500 mm (8' 2 7/16"),
aluminum, anodized, for 1 door

057.3184.073

mm
(inch)

Set consisting of:

057.3184.072
057.3184.073

No.

Running gear,
ball bearing, rollers,
plastic, white

N

N

057.3114.071

Stopper, without
retention spring, plastic,
gray

057.3073.071

Soft close, top running,
61-100 kg (133 to 220
Ibs.), plastic

042.3106.071

Trigger for soft close
in buildings, zinc die
casting

042.3105.001

Push-to-open Hawa
Porta 100, 40-100 kg
(88 to 220 Ibs.), with
self-closing

057.3177.071

Release piece for Push-
to-open, zinc die casting

057.3176.001

=
7

Screw set soft close

600.0000.566

Suspension bolt, M8x32
mm (5/16"x1 1/4"), steel,
zinc-plated

057.0123.104

© Hexagon locking nut,
M8, steel, zinc-plated

768.9005.101

Clamping shoe, alu-
minum, glass thickness
8-12.7 mm (5/16" to
1/2")

057.3032.075

mm (1/4"x 25/32"),

g Hexagon screw, M6x20
plastic, white

762.9480.000

Hexagon jam nut, M6,
steel, zinc-plated

768.2001.101

Continued table on next page

467



'Hawa [[I%Y 100 GMT Pocket

Table continued from previous page

Running tracks

468

Bottom guide, mm
playfree adjustable, (inch) No.
glass thickness
8-12.7 mm 1|1 | 057.3082.071 ‘1 ,700“ 057.3016.170
(5/16" to 1/2"), (66157167
chrome-plated, mat 2.’000.. 057.3016.200
Countersunk head a €947
Q screw, 4x20 mm 504, / Running track, 2,500
A (5/32"x25/32"), steel, 3| 3 | 766.5042.120 aluminum, pre-drilled | @ 2716y | 073016250
zinc-plated
6,000
Running (19' 8 7/32") 057.3016.600
track,
aluminum, 2000 14 057.3174.200 cutto | 4573016990
anodized, ¢ ) size
pre-drilled 2,000 057.3016.201
(6'63/4")
Assembly pin, 9 |11 | 057.0201.001 2,500
plastic, gray e / Running track, @o7ne | 0°7-3016.251
aluminum, anodized,
Countersunk head pre-drilled 6.000 1 957.3016.601
I (Ssc/qzwxf gﬁ?é‘f)mst ol |10]12] 766.3054.140 e 8:/:2 )
; » Steel, eutio 1 157.3016.991
zinc-plated size
Running track, with 2,500 057.3016.256
End cap, left for panel, | , | 5 | 5573059001 assembly opening, | (271"
plastique, anthracite aluminum, anodized, cut to
pre-drilled size 057.3016.998
End cap, right for panel, Disppsable cover to 2,000 057.3098.001
@ plastique, anthracite 2 | 2 | 057.3059.002 running track Hawa (6'63/4") ’ ’
Divido 100 / Hawa
- Porta 45/60/100, cutto | yes3098.990
IZ 8 i size
: plastic, black
End cap holder, plastic, 5 | 2| 057.0141.001
anthracite
% Clip to panel, plastic, 4 | 4| 057.3060.001
gray
Head cap screw,
M5x18 mm
N (3/16"x23/32"), steel, 8 | 8 | 600.0000.661
zinc-plated
Head cap screw,
M5x20 mm
N (3/16"x25/32"), steel, 8|8 | 763.0508.120
zinc-plated
Clip-on
panel, for
clamping 1,500 15 15 | 057.3039.150
shoe, @ 111/16")
aluminum,
anodized
Running
track,
aluminum, 2,500 1 | 057.3174.250
\ (8'27/16")
anodized,
pre-drilled

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set

No.

'Hawa [[21%) 100 GMT Pocket

End cap set

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

End cap for panels

057.3061.072

Assembly set Hawa Porta 60/100, A\l
2500 mm (8' 2 7/16") 057.3179.250 5
o No.
Assembly set Hawa Porta 60/100, Q
3000 mm (9' 10 1/8") 057.3179.300 2
Set consisting of: o
2138
N | N ® End cap, left for panel,
IR No. @ plastique, anthracite 2 | 057.3059.001
®| 0| ®
s G g
Set consisting of: (inch) o|o|o End - |
. nd cap, right for panel,
Running plastique, anthracite 2 | 057.3059.002
track, alu- 2000
minum, o ‘63/4 Y 1 057.3174.200 ~
anodized Z )
N End cap holder, plastic,
pre-drilled II anthracite 2 | 057.0141.001
Assembly pin, 9 | 1113 | 057.0201.001 , ,
plastic, gray Clip to panel, plastic, gray 4 | 057.3060.001
Countersunk head Head cap screw,
S;:%VIY’ fg“?é}?m 10112 14| 766.3054.140 %@{g@ M5x18 mm (3/16"x23/32"), | 8 | 600.0000.661
(3/16"x1 9/16"), steel, zinc-plated
steel, zinc-plated
Running Head cap screw,
track, alu- 2500 &E;g@ M5x20 mm (3/16"x25/32"), 8 | 763.0508.120
minum, ’ 1 057.3174.250 steel, zinc-plated
) (8'27/16")
anodized,
pre-drilled
Runni Push-to-open with self closing mechanism
tr:glr(“ng (must only be used with Hawa Porta 100)
alu- 3,000 1| 057.3174.300 No.
minum, ©101/8")
anodized, Push-to-open Hawa Porta 100,
pre-drilled 40-100 kg (88 to 220 Ibs.), 1 piece 057.3178.071
Panels ~
Q
mm 8 No.
(inch) No. N
Set consisting of: 3
2,500 1 57 3039.250
. (®'27/16") Push-to-open
Clip-on panel, 6.000 Hawa Porta 100,
for clamping shoe, 19|; " 057.3039.600 40-100 kg 1| 057.3177.071
aluminum, anodized ¢ ) (88 to 220 Ibs.), with
cutto | o57.3039.990 self-closing
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Release piece for
Push-to-open, 1
zinc die casting

057.3176.001

Screw set soft close 1

%z
Y

600.0000.566

469



'Hawa [[I%Y 100 GMT Pocket

Soft close Accessories

For soft closing in opening and closing direction
order 2 sets. No.

No. Spring loaded buffer

Hawa Porta 60/100

27760

Soft close Hawa Porta 100, Divido 100,

61-100 kg (133 to 220 Ibs.), 1 piece 042.3102.071

Soft close Hawa Porta 60/100, Divido 100,

. 042.3102.072 Routing jig for
10-60 kg (22 to 132 Ibs.), 1 piece % . 042.3118.071
>0/ assembly opening

Groove cutter to routing jig,

=10 mm (13/32"), hard metal | ©00-0000-309

No.

042.3102.071
042.3102.072

Set consisting of:

Soft close, % Track cleaner, plastic, blue 057.3099.071
top running, 61-100 kg 042.3106.071

—_

(133 to 220 Ibs.), plastic

Trigger for
soft close in buildings, 111 | 042.3105.001
zinc die casting

%E% Screw set soft close 1|1 |600.0000.566

Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1| 042.3106.072
plastic

Cover for assembly opening

No.

Cover cap to assembly opening, 1-piece set 042.3114.071

No.

042.3114.071

Set consisting of:

)
Cover cap assembly
\/ opening, plastic, gray 1 | 042.0172.001

%@& Screw set soft close 1 | 600.0000.566

470 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[21%) 100 GMT Pocket

Soft close Track installation Pocket
30
13"
16 .
05x40 :D
@ 45
250
i @
glsle N =
= S @
Bl | | i
8 128
%u %u 4
5,
* % 21 18 124
23 I
5 4

Ceiling integration

T=TB+45
250
T:TB+1372
ol -
Ayl
45 T‘
25u
132
Qe - TB=LM+30 B =M+ 15"
13
16 8
Bottom door stopper
45 9 71
45
emice
7 © (e = © ©
(
1 0 026 ®
N
]
_J
80
4
45 18 124

Tiirgewicht / door weight / poids de la porte 40-100 kg

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

471



'Hawa [[%Y 100 GMT Pocket

Soft close

=
P o———————1) O) 1 2
* BT o | 12 o | 1] e
Hawa Porta 60/100 HHC 1659 | 1 of | 1 11ar | 24 | 2162 293
29 ] ; 3 » 5 = * Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1"655" | 1" 9g" | 1" 117" | 247" | 2'6%" | 2' 935 1 P assembly opening

ouverture de montage

Hawa Porta 100 G/GU/GM/GMT | 1'683" | 1 97k" [1' 114" | 243 | 2'653" | 2' 9" * o |1 2] 0| 1] 2

Hawa Porta 100 GF 162 24 Hawa Porta 60/100 H/HC 480 | 536 | 590 | 730 | 785 | 840

. = : - > [[Hawa Porta 60/100 HWHMD/HWIT | 480 | 535 | 500 | 730 | 786 | 840

Hawa Porta 100 G/GWF 83" | 19" | 112" | 26" 126%" |2 76" | | Hawa Porta 100 G/G/GMGMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 175 | e |1 g | 2 sk | 20 74k | 2 7 | | Hawa Porta 100 GF 480 730

Frawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840

Hawa Divido 100 H/HMW/GR 1683 | 1ok [ 10114 | 2143 | 21683 | 2 o | | Hawa Porfa 100 GMD 488 [539 [ 590 | 738 | 789 | 840

— B A T o | o T aBe oo Tiv] | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840

Hawa Divido 100 GRM 183" 11105 10y | 26" | 285" 121059" | ["aya Divido 100 GRM 512 | 567 | 622 | 762 ] 817 | 872

Beidseitig gedampfte Ausfiihrungen ohne stirn-

seitigen Zugang erfordern zwei Montagedffnungen| 2570
Versions with soft closing mechanism at both 0 milo
sides without access from the leading edge =11 Oﬁ

require two assembly openings
Les versions avec amortissement bilatéral sans l=> 2‘—9@
acces frontal exigent deux ouvertures de montage.

Push-to-open soft closing mechanism

-

45 W:
> 585
Nur fiir Hawa Porta 100 Pocket PTRPEE
Only for Hawa Porta 100 Pocket % yoss00
Seulement pour Hawa Porta 100 Pocket Al
n Y=22-7
Tirgewicht / door weight / poids de la porte 40-100 kg / 88-220 Ibs. Empfehlung: Hawa Montageset verwenden
v v Recommendation: Use the Hawa Assembly set
= = Recommendation: Utilisez le kit de montage Hawa
P e=——19 | 0 ‘ 1 g ——=J®| 0 ‘ 1 =
< < Ohne Montageset: Filr Montage und Demontage
B O ©) 1 1 Push-to-open stirnseitigen Zugang gewéhrleisten
- Without asembly set: For mounting and dismounting
Hawa Porta 100 Pocket 1 ‘ 2 511 (| Hawa Porta 100 Pockst 495 ‘ 800 of the Push-to-open ensure a frontal access

Sans kit de montage: Pour le montage et le
démontage du Push-to-open assurez un acces frontal

N I —

i

45 W EREEN
250 ézE
135 &
Nur fiir Hawa Porta 100 Pocket = ?353 B
Only for Hawa Porta 100 Pocket =151 Y2550
Seulement pour Hawa Porta 100 Pocket — oh,
Y=>1-92
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

472 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[1%Y 100 GF

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.
With fixed glass support profile.

Product highlights —

Q} Comfort Smooth, quiet sliding and gentle stopping of the I
door with integrated soft and self closing system

Aesthetics Large glass systems can be implemented as
passage or room doors

Technical specifications

[\ Max. 100 kg (220 Ibs.)

M Max. 2700 mm (8'10 5/16")

€5 Max. 1600 mm (5'3") —

5[e 8-12.7 mm (5/16" to 1/2") | — \

Installation examples

705 05 65
250 o~ 9.,
% / 05 46 * mit Montagedffnung
59 . 59 with assembly opening * (?g) 139
25" ‘ Sy 25 avec ouverture de montage @' 71"
[
h (P | gl 5|4 Co N T ®)
. 3|se CERR S 3|5 -
e ol e ol | =i
i 3| R 9 0O ol o
. - )| SEZE 6 0% o
e IR BES 12780
L u i [ A 5w
il =i —
—haelt £ Shiey ]
x5
®s-127) dm L @8- 127) A o)
9, 9. 5u_1u 9. 9.
DF - % B 4 D' -2 2| B | 4 124 18 |10
s 28 1134
® (8-10) ® (8-10) 4 g
50 5, 13,
@ -%" @ N 2 @5 -3") o +22
13.5) 10[ 18 [10] 19 -3 81 (101 18 [10[ 19 -3
®@0-12.7) (17w 130 11w 130 3u % ®0-127) 54 130 10u 130 3u 2 32
2 R 6 R4 T 6 32 16 32 4 A 1
@1 - ®(5"-3") - S|k
(3)10- 12.7mm Glas, Nassversiegelung mit Silikon ©10' 12.7mm Glas, Nassversigge\qu m't Silikon —J Prusne
10- 12.7mm glass, wet caulking with silicone 10- 12.7mm glass, wet caulking with silicone
10- 12.7mm verre scellage au mouillé avec silicone| 1\?1 ’1\‘2'70%’2 [‘)/ggg 3%%”399 au mouillé avec silicone
= . NO. | B =z
| No- 098.0027.000 S o LR Art No. 0423064071 12138
S| i1 S| i Art. No. 042.3064.072 13
| = i | - i
I g e i g e
o| o 5l 5 ol o 5 &
£l E 33 5| E 23
8| & QL 8 g o| o
g|o 8 8 ol 8l 3 =
E 2 S| o E] S| © £
o @ o5 3
[V
50 £
31 =4
- B I 157 S
o o
S| T R|= <l - { o T
N Sé% O D 0|y ol Olaem ﬁég ] = ULy
e @\ e B 24 33
T _ il
20 35 04 20 35 W04 713
B 43 B 43
16 8 16 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 473



'Hawa %Y 100 GF

Set for ceiling or wall mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

057.3074.071

Set consisting of:

No.

Running gear, ball bearing,
rollers plastic white

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without retention

steel, zinc-plated

h ) 1 | 057.3073.071
spring, plastic, gray
Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
steel, zinc-plated
e Hexagon locking nut, M8, > | 768.9005.101

Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2
(5/16"-1/2")

057.3032.075

Hexagon screw, M6x20 mm,

plastic, white 2 | 762.9480.000
D Hexagon jam nut, M6,
\LJ—/ steel, zinc-plated 2 | 768.2001.101
/l Bottom guide, playfree
%ff adjustable, chrome-plated, 1 | 057.3030.071
& matt

Wall buffer, 19x10 mm
(8/4"x13/32"), rubber, black

024.0002.046

Countersunk head screw,
i 4x20 mm (5/32"x25/32"), 3
steel, zinc-plated

766.5042.120

Running tracks

mm
(inch) No.
2,500 057.3053.250
(8'27/16")
3,500
Running track fixed (115 25/32°) 057.3053.350
glass, aluminum,
pre-drilled 6,000 | 457 3053.600
(19'8 7/32")
cutto | 457 3053.990
size

474

Panels
mm
(inch) No.
2,500 057.3050.250
(8'27/16")
~ 3,500 | 457 3050.350
/ Clip-on panel, (11'5 25/32")
aluminum, anodized
6,000 | 457 3050.600
(19'8 7/32")
cutto | 957.3050.990
size
Screening seal for 20,000
% fascias, plastic, black | (s 7 13/32") S s
Fixed glass support profiles
mm
(inch) No.
2,500 1 557 3056.250
®'27/16")
. . 3,500
Fixed glass profil/ (11" 5 25/52") 057.3056.350
guide track,
aluminum, anodized, 6,000 057.3056.600
pre-drilled (19' 8 7/32")
cutto | 457 3056.990
size
2,500
Fixed glass support @2 7/16") 057.3057.250
profile, aluminum,
anodized, pre-drilled | CUt10 | no0ages 990
size
Sealing profile for
fixed glass support
profile, glass
thickness 6?2?3?32 057.3072.001
8-10 mm { )
(5/16"-13/32"),
plastic, black

Set fixing set

No.
Fixing set, aluminum, anodized,
for fixed glass support profile 057.3057., 057.3076.071
fixed glass profil/guide track 057.3056.
~
o
©
S No.
2
5
Set consisting of: o
Cover, aluminum, anodized 057.3062.001
Thread rolling rounded
head screw, M4x10 mm
s, (5/32'X13/30") 15| 762.7008.100
steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Clip-on components

Soft close

'Hawa [[1%Y 100 GF

For soft closing in opening and closing direction

No. order 2 sets.
Clip component for wooden N
i o.
and aI:Jmmum”paneI, every 500 057.3117.001
mm (1'7 11/16"), aluminium, Soft close Hawa Porta 100, Divido 100, 042.3102.071
pre-drilled 61-100 kg (133-220 Ibs.), 1 piece e
Soft cl H Porta 60/100, Divido 100,
Panel end component set, 64.5 mm (2 9/16"), aluminum 18—6%?(38(2221—\,1\/22 Ig;_"; 1 piece vido 042.3102.072
No.
g s
Panel .end component.set, 64.5 mm (2 9/16"), 057.3052.072 SERS
one-sided, wall mounting oo No
IR '
3 e
5 Set consisting of: S| o
o
3 No. Soft close, top running,
2 61-100 kg (133 to 220 1 042.3106.071
Set consisting of: 3 Ibs.), plastic
Panel end Comp"onent, Trigger for soft close
64.5 mm (2 9/16"), 1 | 057.3052.902 in buildings, zinc die 1| 1| 042.3105.001
aluminum, anodized casting
Bracker connector, > | 057.3051.101
steel, zinc-plated I Screw set soft close 11 | 600.0000.566
- Screw, M4x2.6 mm
(5/32"x 1/8"), 4| 011.0101.171 Soft closs, top running
teel, zinc-plated ! ’
steel, zinc-plate 10-60 kg (22 to 132 Ibs.), 1| 042.3106.072
plastic
Panel end component set, 70.5 mm (2 25/32"), aluminum
No. Wall compensation profiles
Panel _end component set, 70.5 mm (2 25/32"), 057.3052.073 mm
one-sided, ceiling mounting (inch) No.
& Wall compensation 2,500 042.3064.071
5 % profile, with sealing (®27/16")
ol profile gray, 3,000
ué No. aluminum, anodized | (g 1 1/5 042.3064.072
5
o

Set consisting of:

Panel end component,
70.5 mm (2 25/32"), 1
aluminum, anodized

057.3052.903

Bracker connector,
steel, zinc-plated

057.3051.101

@ K|

Screw, M4x2.6 mm
(5/32"x 1/8"), 4
steel, zinc-plated

011.0101.171

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Accessories

2y

6-piece set

No.
Bottom door stopper, with 20773
centering, chrome-plated, matt
@ Sliders, for 8 mm (5/16") glass, 1
) . 6192
@ self-advhesive, 6-piece set
@ Sliders, for 10 mm glass
(13/32"), self-advhesive, 16193

=

Track cleaner, plastic, blue

057.3099.071

475




'Hawa %Y 100 GF

Wooden panels

Calculations of panels

66 035 Schiene/Track/Rail 9 Schiene/Track/Rail ? )
on
05 2% 2
59
216" i
8|20 T
= : ]
8| ik
slgs 3|
|75 w| - =t ©
3| _ 1 Clipblende/Clip fascia/Cache & clipser Clipblende/Clip fascia/Cache a clipser
e § = Schiene/Track/Rail + 7 (") | » = Schiene/Track/Rail + 7 (") || »
Ao | = T
6 6
@D(8-127) Schiene/Track/Rail 316
7117 o] on
5. 1u t +4 5|l 8
FTt 9., (9. 8
@(16 2 ) = B _|la
® (8-10)
5u_13u "
@G -3") @) 3
10-12.7)| 8L 1ol 18 [1o] 21 | -3 -
] ) 5180 T 18w 270 % |
@R 1| ® %2 ®
2 2 -
(® 10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone - -
10- 12.7mm verre scellage au mouillé avec silicone Holzblende/Wooden fascia/Cache enSE)ms
Art. No. 098.0027.000 . = Schiene/Track/Rail + 19 (")
Bottom door stopper U-shaped guide track with sliders
Einbauvariante
Mounting version 10
Variante de montage 12. ~
S|k
20
250
32
Soft close
262 262
> zﬁn ﬁﬁ > 2%..
7=
- NPTECD
P o———————1) ©) 1 2 215y
Z=2480
* E o | 1 2 | o 1 P
Hawa Porta 60/100 HHC 165 | 1rer |1t | 20 |26 |20
29 | v de | 40 qadn | on g3 | o 290 | on g3 L= *Montageﬁffnung
Hawa Porta 60/100 HWHMD/HMT | 1'65)" [ 1'9gg" | 1' 115" | 243" | 2'65" | 2' 935 . _ ] 2 assembly opening
29 4 1 3 29 3 ouverture de montage
Hawa Porta 100 G/GW/GM/GMT | 165" | 195" | 1" 115" | 243" | 265" | 2' 935 * B o |1 l2] o 1] 2 2
Hawa Porta 100 GF 163 2 4 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
. - : % . Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF V83" | 9" | 11" | 26" 265" | 2'746" | [ awa Porta 100 G/GWEM/GMT | 480 | 535 | 590 | 730 | 785 | 840
Al e PPal e la A 3
Hawa Porta 100 GMD 175" | 1'955" | 1'117" | 2' 55" | 2' 755 %" | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR T 6%" 1 9% 1110 | o 4%. P 6%3" 3. Hawa Porta 100 GMD 488 | 539 | 590 | 738 | 789 | 840
= B 1 e | o a9 abe [ oot | Hawa Divido 100 HHW/GR 480 | 535 | 590 | 730 | 785 | 840
Havia Divido 100 GRM 8" 110" 10" | 26" | 2'855" |2'1055" | [yawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

> 62
A—_IZZ%" P

Z2=>730

Accessories

— Lock solutions from page 511

— General accessories from page 518

— Glass recommendations from page 536

476

Planning/execution

7=22-43

Further information about the product can be found
on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 GF Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.), with surface
mounted running track. Wall or ceiling mounting. With fixed glass support profile.

Product highlights

<\Tﬁ Flexibility Standard applications can be extended with
the Synchro option

QQ(; Comfort Two simultaneously sliding doors make large,

fully accessible openings possible

Technical specifications

[\ Max. 100 kg (220 Ibs.)
o Max. 2700 mm (8'10 5/16")
€5 Max. 1200 mm (3'11 1/4") /%\

Sfe 8-12.7 mm (5/16" to 1/2") 4/

Installation examples

65
9u
05 %6
59
S5u
25 |
8|y q 2Hmie
= AR
po (. SESR © = <
B J EER] Qe - U
sl ) | %
S =
8-12.7
@ ac ) o L
a1 LTI
D (15" -2") 3| 6 -|4 18 124 44 124 35 _|10
@ (8-10) Z e 12 a2 e
5u_13u
@Gs"3") @ +5y
8| [tol 18 110[ 19 | |5u
@(0-127) % 13% L& 13% % 32
130 1u 1
Oz -7") -

(®10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone
10- 12.7mm verre scellage au mouillé avec silicone|
Art. No. 098.0027.000

tfﬁ
6
u
3

SES —| e
2|7 ~[e
AN A
il ik
ol e £l e
3| S 5
== = )
§ a é 2 Kantenschutz anbringen!
s|s = Fit edge protector!
3 8 &8 Mettre un protege-aréte
[GIRG) <
50
13l
ol 32
@ Lﬁ _ @ o L;\N NN { o :%
ol Sy Dyojy > Sle> L NS
—| 21
e é\
20 35 04
130 130
6 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 477



100 GF Synchro

Set for ceiling or wall mounting,

for 1 glass door up to 100 kg (220 Ibs.) (order 2x)

No.

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

~
S
g No.
&2
B
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 1| 057.3073.072
spring, plastic, gray
Sto.pper, W|thout retention 1 | 057.3073.071
spring, plastic, gray
Suspension bolt, M8x32
mm (5/16"x1 1/4"), steel, 2 | 057.0123.104
zinc-plated
Hexagon locking nut, M8
> ’ )
(=2 steel, zinc-plated 2 | 768.9005.101
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075
(5/16"-1/2")
Hexagon screw, M6x20 mm, > | 762.9480.000

plastic, white

Hexagon jam nut, M6, steel,
zinc-plated

768.2001.101

Bottom guide, playfree
adjustable, chrome-plated,
matt

057.3030.071

Wall buffer, 19x10 mm
(8/4"x13/32"), rubber, black

024.0002.046

Countersunk head screw,
4x20 mm (5/32"x25/32"),
steel, zinc-plated

766.5042.120

478

Synchro set

No.

Hawa Porta 100 G Synchro, for 2 doors

057.3075.071

~
=1
g No.

@

mm 5

Set consisting of: (inch) o
.% "(ed Cable holder, aluminum 1| 057.0130.071

= W

Mounting plate, steel, 2 | 057.0144.101

zinc-plated

Deviating roller, ball bearing | 2

055.0101.001

Cable safety, steel,
ep zinc-plated 2 | 056.0124.101
Kevlar cable,
D=2.5mm 3:2?1?12 1| 752.0059.104
(3/32") ‘ ’
Protectiv edge
trim, plastic, 2,700 1 | 057.3080.001
(8'105/16")
black
PT Rounded head screw,
% 5x12 mm (3/16"x15/32"), 2 | 762.9456.100
steel, zinc-plated
Head cap screw,
g M5x16 mm (3/16"x5/8"), 2 | 763.0512.116
steel, zinc-plated
Running tracks
mm
(inch) No.
2,500 | 57.3053.250
(8'27/16")
3,500
Running track fixed (11'5 25/32") 057.3053.350
glass, aluminum,
pre-drilled 6,000 | 57 3053.600
(19'8 7/32")
cutto | )57 3053.990
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




100 GF Synchro

Panels Clip-on components
mm No.
(inch) No. Clip component for wooden and
2,500 aluminum panel, every
weaney | 0°7-3090-250 500 mm (1'7 11/16"), 057.3117.001
aluminium, pre-drilled
// o | mi’fsgz”) 057.3050.350
ip-on panel, .
alurr)ninura, anodized 6.000 Panel end component set, 64.5 mm (2 9/16"), aluminum
’ 057.3050.600
(19'8 7/32") No.
cu_t to 057.3050.990 Panel end component set, 64.5 mm (2 9/16"), 057.3052.072
size one-sided, wall mounting : ’
Scre_enlng se._all for 20,000 057.3078.002 o
fascias, plastic, black | e5' 7 13/32") o
g No.
@
Fixed glass support profiles Set consisting of: E
UL Panel end component,
(inch) No. 64.5 mm (2 9/16"), 1| 057.3052.902
aluminum, anodized
(8,2;5722“) 057.3056.250
Bracker connector, steel
3,500 &~ . - Steel, 2 | 057.3051.101
Fixed glass profil/ (11" 5 25/32") 057.3056.350 zinc-plated
uide track,
gluminum, anodized, 6,000 057.3056.600 ) ScreW, M4x2.6 mm (
pre_dri”ed (19' 8 7/32") ) : 5{32I X 1/8 ),I red 4 011.0101.171
steel, zinc-plate
outto | 057.3056.990
2500 Panel end component set, 70.5 mm (2 25/32"), aluminum
Fixed glass support (8.2’ 7116") 057.3057.250 N
profile, aluminum, ©:
anodized, pre-drilled | CUtt0 | ge0a4e099g Panel end component set, 70.5 mm (2 25/32"), 057.3052.073
size one-sided, ceiling mounting ’ ’
Sealing profile
for fixed glass ™
support profile, glass | 20,000 057.3072.001 5
thickness 8-10 mm (65'713/32") ’ ’ ) No
(5/16"-13/32"), = ’
plastic, black DS
Set consisting of: 3
Set fixi t Panel end component,
et fixing se 70.5 mm (2 25/32"), 1 | 057.3052.903
aluminum, anodized
No.
Fixing set, aluminum, anodized, Bracker connector, steel,
for fixed glass support profile 057.3057., 057.3076.071 zinc-plated 2 | 057.3051.101
fixed glass profil/guide track 057.3056.
- Screw, M4x2.6 mm
(5/32"x 1/8"), 4 | 011.0101.171
~ ‘ steel, zinc-plated
S
g No. .
™ Accessories
N~
Set consisting of: 3 No.
Cover, aluminum, anodized | 2 | 057.3062.001 Bottom door stopper, with 20773
centering, chrome-plated, matt
Thread rolling rounded
head screw, M4x10 mm .
&E@ (5/32'x13/32"), steel, 15| 762.7008.100 / Track cleaner, plastic, blue 057.3099.071

zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

479



100 GF Synchro

Wooden panels Calculations of panels
66 035 Schiene/Track/Rail 9 Schiene/Track/Rail 9
T 1T
o ¥ g
59
T s NES ]
llEny i 0o ol -
EES . o[ g
LS 2
9|y S|
0= = Clipblende/Clip fascia/Cache a clipser Clipblende/Clip fascia/Cache a clipser
3| = Schiene/Track/Rail + 7 (3972‘-) = Schiene/Track/Rail + 7 (")
==l i 12 :
Slz T, .
Sh3ioo) 6 16
i Schiene/Track/Rail 3 16
D(8-12.7) H L e
5. 1
D3 £ I EYR
® (8-10)
5, 134
Q' %) @ 13
R 8| 110/ 18 110] 21 |5 -
@10-12.7) S D k2 |2k
130 _1u 32 16 32
®(5" 7" - ] ‘
(® 10- 12.7mm Glas, Nassversiegelung mit Silikon
10-12.7mm glass, wet caulking with siicone Holzblende/Wooden fascia/Cache en bois
10- 12.7mm verre scellage au mouillé avec silicone — Schiene/Track/Rail + 19 (%.. )
Art. No. 098.0027.000
Bottom door stopper
Einbauvariante
Mounting version
Variante de montage
Calculations
Schienenldnge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 45"
Rahmenéffnung/frame opening/Ouverture du cadre = RO
50 50
13 o 25, - 13"
® TB=RO+96  TB=RO+%" 4| 8 ®
2 2 5
32
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Ttire )
In the middle 1 stopper with retention spring ( right door )
10 Dans le centre 1 butée avec force ( porte a droite ) 10
13u 13
32 32
) (
Z~ — =
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

480 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



